CHINMAYA ACADEMY FOR CIVIL SERVICES
TNPSC Group 4 Full Test 1

Science, Aptitude and General Tamil (Full Portion)

A

Booklet Series Register Number

[TimeAllowed:3 Hours] [MaximumMarks:200]
Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

. This Question Booklet contains 200 questions.

2. Answer all questions. All Questions carry equal marks.

. The Test Booklet is printed in ‘A’ series booklet, he/she has to indicate in
the side 2 of the Answer Sheet with Black Ball point pen as follows:

. You must write your Register Number in the space provide on the top right
side of this page. Do not write anything else on the Question Booklet.

. An Answer Sheet will be supplied to you separately by the invigilator to mark
the answers. You must write your Name, Register No.and other particulars on
side 1 of the Answer Sheet provided.

. You will also encode your Register Number, Subject Code etc., with Black
Ink Ball Point Pen in the space provided on the side 1 of the Answer Sheet.

. Each question comprises five response [A], [B], [C], [D] and [E]. You have to
select ONLY ONE correct response and mark in your Answer Sheet. In case
you feel that there are more than one correct response, mark the response
which you consider the best. In any case ,choose ONLY ONE response for each
question. Your total marks will depend on the number of correct responses
marked by you in the Answer Sheet.

. In the Answer Sheet there are five brackets [A],[B],[C],[D] and [E] against
each question. To answer the questions you have to mark with Black Ball
point pen ONLY ONE bracket of your choice for each question. Select one
response for each question in the Question Booklet and mark it in the Answer
Sheet. If you mark more than one answer for one question, the answer will
be treated as wrong.

. You should not remove or tear off any sheet from this Question Booklet. You
are not allowed to take this Question Booklet and the Answer Sheet out of
the Examination Hall during the examination. After the examination is
concluded, you must hand over your Answer Sheet to the invigilator. You are
allowed to take the Question Booklet with you one after the Examination is
over.

10.In all matters and incase of doubt, the English Version is final.
11. Do not tick-mark or mark the answer in the Question Booklet
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1. 508 wWss: eurligs uller

a) aumul + Sulledr b) eumIG Gl + FFusledr o euml + 8 + mulledr d) eumiig gl + Gullesr

2. CFI5 8 W als: ‘Yerfl + GFmml’
a) LefluepGamm b) LerflepGamm o) Yeflwih@ammy d) Yerfl@Fmmi

3. &rflumenr eflemLenw s CHI5.
a) elevor + 2_evor(h) - 6l evoreEmTesor(h) b) LIGOOT + LD - LIGUOTET0TLO &
) BIT6L + JIGLD - BIMHLGLD d) eflevor + SIPG - AHUPGS

4. GG W GISH: ‘QUTMHCHETLHGLOJR’
a) QUM + CG&HML( + GO b) QuiImedT + GHM(H + GLO(H
o QuUmMECaEHT(H + GO d) QumedT + G&HITL(HGLO(H

5. FH SN empWIhHm 6uiTs: S WIS en6Ts & 6voTL &5,
SHCMHT(HGEF QFTM @ LGL6v6euTD FmLiL
SMHCMTHES Q&F6TM LAV FAMmLIL]
&G LIIT(HEIT &60Teutledr QO WIQLITBET seuadl
& LIQLITIHET &6tTevl 60T QILOWILIQLIT(H 6T &eveil

a) 1 LnmmILDd 3 b) 1 LbMHMILD 4 €) 2 LoMMILD 3 d) 3 lnmmilh 4

6. BLh&&ETaEID 'aucuederh WKaT @ LI’ GMHS @)6vE 5 60uTs FamleL LNemLD WITeT Fa MMl 6TSI?
a) aflemeTH Q& Men & uilev ausvedleorid L& ME)

b) 2_Lhemn S S Men& ullev eusveSlerid L& Ml

c) @revorLmih GeuMmIennSa & mend ullev ausvedleorid L& ME

d) BreTsmn Caummiemin eXliflullev au@pLDd auevedlerid LTSI

7. M6V - QBLY6V LTHMLD QUITHET CaumILIT® &  LO6OT — LOTedT

a) Hem6V6U6T — eileVmkIG b) SUTFET — LIMmem6 c) 96007 — ANl 6LMBIG

8. GLh& 5 600TL6UM MIET @UHeMLD LiciTemLo Lempwmm QSITLT er5I1?
a) LDBEMSWITH GBS Q8Meoor lQ.(HHS LML emL L1 L|6d &S eor

b) LDHEeMS UM CLOUIBS Q& MeoTIq (BHS LDTHI&Hem6TLl Lied g &i1T&5S eor
) LDHEMSUIMTS GLOUIBS Q& TeuoTI) (BH&S MH GHem6TL Lj6d SITsH g
d) L0BemS WIS GBS Q& Meorq.(BHS DML emL L L|6d SITSHuS

9. @69l (nemm MBS &FiflWImeor QILITIH6IT 6T S18.
' DETEUOT' 6T60T D IT6V ; '2em6hT' TEdTMITEL
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a) 2_600T6), @enMEFH b) @eMFR, 2_cvorey C) DEMETLD, 6T G560 d) 2_6iTerLd, 2_eoorey

10. G1p& & 6u0TLeuMMIGT 6269 CeumiLim® MBS Fflwmerll QU BHNTSCHTH: &6 - &Il - serfl
a) Feofl — el(h) — @ 60TLILD b) &S — Fevfl — @6OTLILD o) Feafl - &S - @eTLID d) @eTLILD — L&D — Fevfl

11. #flwmer efleormd QFTLMLS CHTHASH &S :
106011 55601 63T LOGUTLD S6VMIGE &ITF6U0TIOMS 6006 S

a) eTemeu? b) eTedT60T? o) wmy?

12. €1p & & evoTLeum mieT Flwmers samenms CHTHASH

Famml 1: 2. U7 T & g &erfleL @) 6T 6T(LD & F18 & 6T 2_600T(H

gammi 2: 2 ulij TS SIS6TleL GNISEES QB QB YIS ES GSHlID @ aTe oW SIS E6T 9L GLD.

a) Sl 1,2 &fl b) S mi 1, 2 Heuml 0 oo 1 &K 2 Heum d) G 2 & 1 eug

13. (B emL0- Liciremln LNempwiMm eums: S W g emng 8 & 6vorLml:
a) LD6LENEMN S HETEHT6V LLE @D LDV {6VEM6V b) LDEVESleM & GETHH 6V LL,EGLD LDV 3|60TMI

¢) DELENEMN S GETHTH 6V LLE G LD D6V 3{6V6V d) LDeVENEM & GEMEHHV LLE@GLD LDV 60B6V60T

14. LD & & 600T L6U M MI 6T ‘S (5@ 6UEIT” 6TETM QFMLNIE S 2Tl CeuFFQ&FIT6L & T6Uor:

a) () b) c) &5

15. BLp& & evoTLeuM MI6T Fflmearensgd C&T8:

Fabhm 1: @ elenernmHm QUW 6T &6Tennenil 6L lhS CeauMmienin 2 (hL gMMIL gME&TOILD
Cou@M (B Liwetflemevenld Q& meoor(® (LOLg-6u Sl 67lem6orQ I &ID.

saHm 2: QF6T ST &6 2, @), 2

a) &mol 1,2 &ifl b) Fnmmi 1, 2 Heumi 0 Gammi 1 &l 2 Heum d) gammi 2 &ifl 1 Heumi

16. "Lemeoruigmild Lj6L @ 6L6EITEILD HLL|" - @) B6V 'L 6L’ eTeiTLIS MG QLIMT([HS S LOITET eTHTFQFTLemeVS
Csey QFIS.
a) BTLPHS b) srlléveurs c) GLoeuTenT d) B(H\Bledr6v LI TeoT

17. S5 600TLEUM MIGT ‘HMTEHEG 6T60TM Q&FMTEV6d6T 6 6060TQIEFFLD & IT6UOT:

a) &G b) HTHH ¢) BHTHEW d) G euoTL 6756 Lil6vemev
18. (IH CUME S WILD @ T(DEUTW LD 60TMIS S CLMLUILL LwelemeudenerTyb Q& meor(h), Q& mLITLemL W

RCT HHSHMS 6flens: G 6!
a) 60fl QUTE&H WD b) QBTLT aum&HSWILD C) H6V6MEUEUTE S WILD d) QF WIS euma& WD
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19. G 1D & 5 600TL6UM MIGIT &H6UMITET 6iTenMS CHIT8:

1. QuorSludledr g e8l6v auIBLIEm6 - 6T, WIT

2. QumtulieT @M ufev eu(pLIem6l - 3, R

3. QM WsSgih @ MG udlsyilh eu(BHLIEM6U — ¢, 6T

a) 1,2 &l 3 Heum b) 1,2 Heum 3 &ifl o1& 2 3560m d) 1,3 &l 2 eum

20. 61D &5 600T LU M MI6T ‘2_LOLIT” 6T60TM Q&FM6LE060T QLITIBET &IT600TS::

a) FMHM Q& Temevailey b) GGV o) YedrL&&LD

21. ‘9uMmnT’ eTedTm Q& MeLES 6T ©) 65 & 6uuT (GMILIL| & ITEO0TS::
a) ellemeoT(LMHMI b) eT@FLoemM QSTHMH QLT
¢) THTLDEmM Fauey elemestLnmm d) elem 60T U TeVe 60T W LD QLI T

22. @\ eNlemeraserfledr QLB ET CoumILITEH MBSV MG - S(BHSI
a) 2_L_ Q& ITETEH 560 - S BHS! CUIMTH6E b) sievoTGILIL (B Sl
DRG] - slar@UL®b d) &levor(h) &Y

23. BLh&&ETERID @@ QFTMHS&6T6T QUTIHET CaumUmLenL s FIlWMEL QUTHSSIS. UM - U6 M
a) 6T6LEDIBY - Qumilwev b) euemFwIenMm — LIGh&FLD

) UL - STWLD d) eTeLemIEV - GUTLDL

24. BLp& & 6voTLeuMMIET QS MIHNLQUWIT S VeuTHamGsH CHTHASHH?
1. 5@ LI 2. QUMIGEL 3. (LPEMETS 56V 4. eflem s WITEmLO
a) 2,350 1,4 seum b) 1,2, 3 &ifl 4 Zaum 02 3,451 1 s6um d) 9emers S Fifl

25. 9|0 & S TMIEOLWIITET - THTEFEQ &MV H(IHS
a) QUITMTEMLD 2_60)L_LLI6U60T b) &IUlemLD 2 _60)L_LLIGU60T

¢) QUITMITEmLOLLIM M 6 60T d) arilemin &M meledr

26. G1p &5 6v0T UM MIET 31587 auflensFuilev 9emwmns FiflwmeTr QS TLmTS CSHTs:
a) @eTLLD, QUBSES), HHHS), I0H &G0, b) @eTULD, HHHS), QLGSR L0H &GO
¢) @6TLLD, H GG, HHSHS), O LHER d) DHEGSWD, HBSS), QLIHHS), @ 6TLILD

27. BLh &G eu0TL UM MI6T 9157 auflemsulley oeminhs Fiflwmer QgTLmMIS CHI5:
a) &MHMLD, PG 6T, QF I 6T, GFTeVITEH 6T, GFITIDLIGY
b) Fb G e 60T, BF TV 60T, GFITIDLIGY, QEFUILET, FMMLD
¢) PbFHemnert, FMHMLD, QFUIL|6T, CFTeVTS 60T, GFMIDLIEY

d) QEUIW 6T, FHMLD, FHS 60 60T, CFTeVTSH 60T, GFITLDLIGY
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28. #flumeT QFETMHOMTLEMTE &6vorL &%

a) QUMEIN&GSET eTflGHeorT Sull (B 2Bl S gl 6ol & emerT
b) eTf &S eTT BB S Sietofl&HemeT Ul (B QLIMSINE 56T
o) BUWILQG eSS 6T QUNTSINES 6T SiHbB U S 5 600f] 8606
d) QUITSEID G5 6T BB WG Hlevot| Hemers SUIL () T8 5 60T

29. G & & evoT LeumM mI6T FiflWmerens s G5 HO S MH:

1.Cu - Hlemiy

2.8 - 3| EFH 56V

3.&m - CFMIH6L

4.5 - @605 G ML

a) 1,2 354 seum b) 2, 3,4 5ifl 1 Zeum 01,2501 3 4 5aum d) 9emers S &ifl

30. G0 & 5 600TL UM MIGT QUITBHHSTSH RTenms C5T8:
a) C& () b) eflerflibLy C) 6TELETIEY

31. QUINH 5 S5

a) weemy  1.10m

b) o 2. Lelledr mlemev
c) Gumgl 3. Bl lLILG S
d) euevor(® 4. Loeuof]l euen &

a) 1234 b) 3214 d) 2134

32. @\ QUTIHET HIHS : T

a) L0Memev, LiemL b) 2_eu&Ld, B C) LOITEM6Y, FITEDI6V d) GLO&LD, LOMem6Y

33. QUM 5 S8

R QFMLOME @) 6mevorlmeor Ceuml Q&ML I MIgHe6L
a) @i - 1.ueiTemid

b) U@ &T - 2.6 emeor

c) 26mLp - 3.pemm

d) LULemev - 4.10Mem6V

a) 2143 b) 2134 c) 1234 d) 3142
34. QEMHGSLLLL @ emeurgeiflev Fflwime @ ememrenls CEHTHASMH:

a) &5 &smul - 5551 &5 Ml b) & GauLILNem6v SIGauLlI N emev

a) a DL QLD &ifl b) b (b &ifl c) @uevor(hth &ifl d) @uesor(hh Heumi
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35. QUM 5 S8

QFTMH&H6M6r gal B QLIWTSET.

a) piEIFeL - 1. Geoy

b) (pemer - 2. HeOp

¢ Gauliulh - 3. &H[F

d) uy® - 4. @emev

a) 4123 b) 2314 c) 4231

36. FfllumaTens CG5I5. 1. 97 - Blemmwl 2. 31m - Sevollw
a) 1 &1l 2 zaum b) 1, 2 &rfl o 1 seumi 2 &ifl d) 1,2 eum

37. B (5 ,MN BTG LY eTeorm 26mFL1 QLIwfleor &FiflWITesT LDeH2_6Mm6U 6T S
a) LiLpeof] b) B\ (55 5 6v0r] o) LW EHTCFMemey

38. B &S euoTLeuMMI6T empwmm QSGITLenE &Teuors.
a) Q5HESHTIDLIG &M&HS WD LFlHEHTIOL b) &M&s Q5fHCHTIOL WS s5flHEs ML
0) WSS QsfHCHTILNG &THs Q& HCSH ML d) uflBECHTOLNG &MEHS RWEHSD Q& HCSH ML

39. VMAWLMHAE QFTMHEEHEEG &) 601600TWL TET SLALDF QFTHEHEN6TS & 600T LM &5 6v.
SLENVE) 6T6OTM QEFMLYISHE @) 6060uTWITET SO & Q&FT6L:

a) QLEVH - QFvaILD b) SLeNVG) - QFTHSI ) QLS - LieooTLD d) 9LENVG) - QUIBLOIMEDTLD

40. JJWMHFM M SN S S G LD & 6voTLeum mieT FlWmersl 615I?

a) 2(H (LNG60TEMLD AUMEGHIUILD 62(H FHIEM6ETT QUMTEHSR WS SIL 60T CFTHS! QUHLD

b) el Famllens LILIGCUW FaMTLO6) SUIEVTT FoMIeUSICLITE SamialHev CMmEsTeT GMIuidk @ LLb
QUMTSI. HeTenILn, (LNedTesfleneul] QUUWITSET LILFHenss Ll Quuifley nmnl oemLouLd.

) elleT TLIQUIT(H6T S(HLD eUTESH WD

d) @@ QFWIHmWS S eaflauns:s Qsflals@Gn aumsa LD

41. Gp&aevorLeummiaT Fiflwmer Wenmuilel emnHS UTHER WSS CHTHAS D
"9LMmMeL BITLLEW QFTMHEHET Heflens SHTOMSL QLITMEIS) 6uLsleuSigmer”

a) BTN QUMTEIS auflelgismeaT sellensd 9mmev BITLLUIW Q&FTmH&e6T

b) @mmev BIFDLNW sellemsd QETMH&HET SIS QUTHIS aiblelg &mer

c) ammev Hallens BIFLLNW QETMH&ET HTINMEL QUTEIS eulblalg &meor

d) @LmmeL BIFDLLW QETMH&6T STINMEL QUTEIS alldlalg mer sellems

42. QEFEMM&MET RUBIGLBGSS FflWmer QETMRAMITLEMIT 2 (H6UTHE S T6:
a) oesflgemy mm 2 Wiliflermgefl8lBhg CaimLRsSSH W0 CuUBGSH WD &M (Rleug Q.
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b) CaumLIhSH WD CUMGMSH WD &ML (Reug Qi weflgeny wmm 2 ulliflermiserfl L0 mH s
o) neflgeny CaimLGsH WD CubumdsSH D wmm 2 ulflarmisefl_b@ba &g Qum
d) mmm 2 wilflermigsef 8 ®Ghs &TlGaug Qg weaflgany CaimiLRsSH ubh CubLm S

43. S 1P & 5 600TL6UM MI6T HeiTellement UMTHR WSHMSS CSIT8%:
a) &Wevaldl BHE&GmeT LuleTmmerT b) CF&ERLLTT CFMLLETTEV aUTCaIMESHLILIL LT
C) LDMEWTEUT&HET QUG LI6mL STl Q& IS0 d) H®. a. &. @eTemnellBHens G UIDHMINSSTT

44. QEWLILUTL® eflemerr QFETHRAMTL6MTS & 6voTLM&:

a) | 6UOTEOOTIT SHEMVFIMHH CLIFFTETT 6TedTMI LD&SETMTeV CUITMHMLUILILLITH.
b) S|600T600T T HEMEVRIMIHS CLIGFTETIT 6T60TM D& &6 CUITmHl6oT(.

C) LDEG6IT 2| 600T6OUT TemI6U HENVFI MBS CLIGFF TN eTedrmy GLmmnleor(y.

d) VA MBHS CLIGFTETI 2600T6u0T T 6T60T GLIMMNI 6T D& 56T

45, & 600T6UUTE0T, HL_L|&E ©)6V8 8 600TLOITE 6UITLDIHESTEOT — 6TeleUem & S QG ITLIT 6T6uT &600TL 1 &5:

a) 2 60T &R aUMEGSHIWILD b) Q&BTLT eum&HS LD 0) QF UG aumsSHIWLD d) SBLLemeT aums&HWLD

46. G1p & & ev0T LeuM MI6T FiflWmeTens s CHT8:
1. THEMLOE SH60TM) 2. LOIT60T S60TM) 3. UueTM & (SLLY. 4. 9 H&GLLY
a) 1,2 &1fl 3, 4 Heum b) 3,4 &1l 1, 2 Heum! 01,2 35f 4 5eum d) s|emets &I &ifl

47. 61D 88 600T LU M MI6IT &6UMITEIT @) 60600Te0 WIS CFIT8:
. Ggmerrld | L[
Il. SLUMTD | @ 6m6eu
lll. @B6L SITeiT
IV. sumemlp | SHevor(p

a) b) Il o)

48. Bpsameib Qs TLFle Fflwmer eflenLenws C5Tey QFuls.
a) Wmemeorulledr Sevor S il g) b) wimemeorull6dr S5600TSH6T FNIWISI

¢) wimemeorudl6or &5 6v0TEs 6T & Il WLl 60T d) wimemeor ufledr gsevor & il u ot

49. BLp &G evoTLeUuM M6 FflumeTeng s CHTHASH: BT, HallF
a) (LD6oT6uT 66y RHEMLOLT QI LILITE6T b) (W edTevflemeuL LiedTemLOL] QlLIWITEs 6T

) JEU6V (HEMLOLI QLIWIT&HET d) UL J&em&L6VTLIMTEY QLIWITE6T

50. QUITHSSLOMeTOUMEMMES CHTHGO S5 H &5
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a) QF6Lel LIMTLY6OTITEIT - §5)60)600T 61 (LD b) 6TedT LOIMLDIT QUGS - BeM6eTT 6U(LDEY Blem6ev

¢) IBITEOT 6UHEGHE0T - @)L QLD d) BTl &&SILD - DL eI

51. QUITH S S18:

a) auevorT(® 1. GDUGLD

b) UM 2. 3jeuLILJLD

) LLemeor 3. (pysVILD

d) GrrilE 4. F@;BLn
abcd

a)3 142

b)1 2 43

2431

d4 321

52. RleuILBHTTHmG L LI585 C8 6T 6 WiihE G 60r oG LD IHSHCH 60T - @) & SHTL T8 G N 1w
BlOISSHGH &S 5&HS QL0 QLbB T SIs.

a) ‘Pl ILBH&ETISMSLI LI5S CH e, il libsCsHer! L0GLDIHS G0N

b) AL &HTISMSLI LI5S C560T; 6Xlwlhs G5 60r; LG L H5 G S 6.

o) "PelILGHHTISNSLI LGS CH60. efllibsCsHer! InHLDHSCSH60r!".

d) AeuILSE&ETISmMS L L5 5G560T. el Wih &GS 60T; L0 LDIH S G55 60T.

53. sl TS 8IS 6T HMID GO ST BlOSs5HESM&E (151 FFflwmears)
a) Q! WITIg FmeneuCWmyh UG SIS L LG b) @L?WIMTE FMeneVCWTTD LRQSSISR L LI1LIS?
0) @b WIS, FmeneuCumyh UGSSIS HLLILIG? d) @l Wmpg? &meaneuCuWnyd LUGSSIsS B!

54. 2_6UeMLD&ETIT6L eflemgd &L QLIMID QUITHETSEB6ET - QUITBHSTH S CHTH
a) GG QemTHS HICLIMTE - LILLISDIETET Gl&F LI6V

b) L& DTS S 24,6001 GLIM6V - 6TeflH6V LeTH6L LIF 6V

o) 2 Lavid 2 WGLELITeV - DETQLTSS HL L]

d) BeormmIg HaemeTGLIME - 2 6080 MlLIMemLD

55. 'Feueuen g &M ellHH6ev @ 6lCs’' 'Feueul’ - 6T6iTM Q&FMeLEd6T Y BIHVEFQF T

a) Sorrow full person b) Importer ¢) Violent person d) Deceit full person
56. Refrigerator - 6T6dTM SLHIFHLEF QFMLNIE S CHTTET SLODEFEQFTLMOVG CHTHAS [ 5.

a) &6l LgeoTLl QUL 1q b) GerflemL_ (b QuL1q
o) GeflisFeamerl QLI Lq d) Gefly &M&GLD QL Lg
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57. QUWTFQ&FT6LEO 60T 6u6m & W NS 6L (LD & &5 600T6UuT 60T
a) @MU b) &Tyevor QLW
) &myever @O\GSMILIQLWIF d) &srmyevor A mUILLIQUWIY

58. LD & & 600TL UM MIET HUMTEITENSS CHIT8:
a) Analog - L 6oT601 U6V b) Access 9| W& 51D
c) Chatbot - 2 eywm@® @ued d) Bandwidth 260505TG L

59. ‘Aestheticism’ 6T66TM QFMTNI&H G CH MU SLAILD Q&FITEV &IT6UoT:
a) Ljemeoredl ey b) 2B W6y o) jmailuiev d) auigefuiev

60. QUIM(H 5 S5

a) Crisis - 1.9 8560

b) Conflict - 2.(Lpyevor

c) contrast - 3.7\ THMS

d) Catastrophe - 4.eflemertey

a) 4312 b) 2314 c) 1234 d) 3421

61. YL BFH6L QAFTLIS G ©)6M6UuT W ITeT HLALh QFTLem6L G Ty AFWILH? "G 6iTsLh CGL &6 Iy Lisru”
a) QUHLOTEOTS Sl6MM VGGV b) u@BLOmeoT aulfl 9 sviaUeVss LD

C) GU(BLOITEOT S| IEUEVSEHLD d) eUBEUITUI S8VI6IEVELD

62. &ML eiTerll @@L @) LMIG6T QGTLITLITET Fa. (DM 5606 4T TUIS.

i) 51955 B6v eflerl (We6dr &mmL|eiTer] 6u(pHLD

ii) 6l 6mEUTO\ W F&FMIS @H & &L L60r &ML eTerfl eu(pHLD

iii) QLM MET G & EHSH G (LN6OT &ITML|6iTerfl eu(BLD

iv) asaufluilév @ mHeurfl Brais gemerw auiflserfler @ o ullev &L eTerfl aupLd

a) ijiiv &) b) i,iii,iv &l <) i,iii,ii &f d) SiemeTsSID Fifl

63. Frflwmer Fammi 6T5I/eTemeu?

i) HeMmeveU6TT Hemevels & T L G gHLIG LD T ML 6vord: & me: S W 26rL_6V - L0(H S & B) 60 600T

i) HLYIGGF Q&M H6M6eVeUsi QUITWESECSHTH HIHLLL UGN ES Hemevadl au(hih S ull(HSH 60 - QIBUIS 6
) 601 00T

iii) HemeveueirT Hemevalleml eSIL B L1560 - neLemEL S B) et evor

iv) B6M6V6EUETT UHEMEHEHETSH HTHH[HSSH6L - LITen6Vs B 60 6vuT

a) Gl i, i Ffl b) Gammi iii, iv &rf] d) gl i, iv &Frfl
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64. G105 600TL6U TS @BET "2V & 6L BHI&l&ID MM L8k SIeN L LTeD &(H& & MEHLD, &LDLI6oT
smellw(pld @ BHS TV GUIMSILD; LTI 3 &emeoTLl L SILIL 8 G168 L 6uITID" 6T60TMI Fnml WUy
a) efyLmupesteury b) &). wj. GuImLl o @umurLl s&meubH G ey d) UflBIDMTE&6VEH T

65. "@|Lh6emID QFWIGS S LD MIEMLNEES LD TILD M6kl em6v 61600118 60T LU S{6VEIT" 6TEOTEILD HITMHUIT G L LD
QUM MIETET HITeu?
a) [HGOTERT6L b) Q& MeL&TLILIWLD 0) LUmIBTsnrmi d) LD&IOTHSHTEHF

66. '(LDL6UEIT QSHMILLS CHMWMHES LeMEFLILILL &I GLITEV' 6T6iTM 2_aU6ML TS & (&M &H M S1?
a) T L (DIQUIMTS SLe0E b) eTerflH6v B em)L_&&HLD QLITHET
¢) 2 MIGWITET (W MHE d) LIWeoTmm SetTetLn

67. L9 60Teu (HeUGTELMEMMLI QILIMT(H S S18:
CU&F& QNG S QU 6T
A. ,OLICLITH 6V 1. @191 GLITEH6V
B. @(H60HLITITE 60 2. 8aflyd L6V
C.&FEF &L195 Q& MeoT(h 3. F600Te0L & GL GLITSH 6V
D. &1bL9 BLB 6 4. BLI9.5 560
a)1234 b)2143 d)4321

68. BN &S EUITL. FaM MIGHE66T FHlWMaTenss C&5IT8:
1. m - Hredler Hieoll GLO6V 3| 600TEUUTS B 6V (NH6L LGB &S QST 6UIh6eUST6L GG ITeoTmILD.
2.7 - prelleir Hieofl GLD 6L 600T600TS; B) 60T 60D WILILIEG B 60 2 [J&6US M6V C&HTeiTmILD.

a) 1 &1 2 eumy b) @revor®ILD &fl 0 1 seuml 2 &ifl d) @revor(®LD SHeuml

69. Charity begins at home eTadTLIS M (& @) 6m6voTWIMenT SLALLLILIPGQLWOMLL
a) HETENSH G HeoT8 &SN b) imBleneuwih el 1q CevBWl Slau&ELD
) 6015 LEGHFGW SMeT(nLd SIHLONLD d) 19 G HMeoTLd Q&I

70. QUM 5 S8

a) 276y - 1.&MMmLD

b) &) - 2.6u6dlemD

<) Gemerr - 3.91Mey

d) 4euid - 4.50.15 %6V

a)2413 b)1234 d) 3412

71. SIBETOTIHSI FF560160T [H60TGM (LN &6OTLOITHSI
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@) TQFTEVEIT 21,811 QLI 60T - 6T6dTM (S M6rfleL ‘I THSI' eT60TM Q& TEVES60T QILITIH6IT & 600TEH?

a) 2_6TerLd b) euEH&FLD o) eflLIuULD d) @evflemLn

72. 9L BIFKVF QFMLINIGHEG B)6M6UITIWLITET SLOILDEF QFTEMEVEH &6uoTL M1 &. ‘60 &FLITeruGLIGN’

a) LsdlGeuerf] b) &FLoQauerfl ) @ emevor Q66 d) emeuw & allifle] auemev aULLMHIG

73. QULLITY 6ULP& G & QFT6L6016V 'LIG6UTLD 6T60T LIS 60T GILIT(H 60 6TE &L (H &.

a) UM b) &6l ¢) Qg memeveaiev d) HeuUeTLOMS

74. A QUMHF QFTHEEHEE @) eM6uuTWITer SO EF Q&FTMEen6Ts & 60oTL NG 6. &FIflWITeor @) 6me6voTemnil g
CsIHAS M.

a) LD&ITa&e] - Inglen LSeor L&) b) ngIFeugFenf] - GHeor Qomdwimerr

c) naIFeuFef] - Cxer QmSLiLImenel d) Ingigausenf] - 9IMLD aUeTi&HS BTWS

75. QL MHEF QFTLIS G @) 6m6uoTLITer HLADF Q&FMeV &e6vorL M5 6v. FiflmeT @) 60 600Ten WIS
CsIHeO S0 &s:
a) AJMOLD - 2en(y b) @66V - LDBHSHSHLD c) T evfl - FemLDWeVEmM d) Blyevory - eeedlwli

76. HOLDEF Q&EMLEMEVE & 600TL M1 5:

a) I ILNG) b) FF&eoT ¢) GGLFedT

77. bTYS QSTLF6r QUITIH6T M 8: ‘eumeuTL (H &6V’
a) (3) 6007 M6l (& S 6V b) &evorem LW H1SH6v ¢) @MMmIEHLD d) 5o BL& 560

78. @ TS S @@ ALTH&GFlw Frflwmer QUTBenear AMHEH ellenLeamws Qgley QaFuls.
a) eol 1. 2_ev0T

b) Go 2.6V

c) emeu 3. 60T

d) a1 4. @\ 6TemD

a) 1234 b) 2143

79. srflwmeor pemmMuileL JeMHS GMmenensd C5Ta:

a) G LME &THCHTIDLI aU(BeUS MM &19560 GHMID Calbg e Q& misley
b) GlQLIMMBI HQG6V alHaUSMIE HTHCSHTIL GMHmLd CalbHem G mLley
¢) G LMB HTHESHTINLING GHMID H19560 al(HeueTm Calbser Q5 muleu
d) G LB HTHEHTILIG &519560 GMMLD aIIBeISIMIEI Calbg 6T Q& mLleu

etreu(plb LIS HemWL LI5Sl 68l6uTTE & @58 G eflemLwerfliaseylh ( @geitadl erevor 80 — 85)
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C&ITLIU6L S TITIOLD 6TeOTewILD LB eorHems5 s QSTLIHSI TS LILILL HengCW C&H LML TS S L& SET.
AT 6T QFTHS 20T TET @) 601G FaU6L 108 & 6rfl6ir 6umhellwey &ML 6 & @B L60T & (M)L16D 60Tt W WL LD
LG5 @)\hENedenerLl LIehL & SI6TeTTI. §) 860 e(h LIGSHCW @M@ LIMLLOMS 2 6Temgl. @\hS\w

Nl Bemeull GUMTITLL GG emeurLl LSl etTeorevol | WLIME & Q& MeuoTL &l @)\ IhHIT6V. @) &1 1991940 Sy,600T L9 M &5 IT60T
FTRSHW 9ansll UflFanerl QUMM CHMTUNLTSHSI 1086 56T Heng uller LA fluy s&iflFe

6T &G TET T G).IJITEIH ITITITLL 600T60T. @) (HLISIS G CLMUIL L. BTV EMETL LiehL & SI6Tem @) 6urleiT &6ma & 6T
R (H &S FMeL6ed W0l 6T &emnsLICLITSEEH 6L I 60L0MH S (H&GLWD. @) 6unleir &Hems&H6T 9| emerd Silh 6.

[T ITS2IH ITIJ IT L 600T60T & 60558 61T 6T60TsnI LD H6meVLILN6L QS MGLILITE QeuerfleursSieitemenr; @e6uy &fl&Fe UL L MTyE
QFTOLMETTH Q6TenMm 2 (HeUuTHSR W 6TETTT. @6uT QSTLRIGE W ULl LTyLyY eumQmslL
L|60V60T& 60 & & 61T 'S If 6L @ euHGE WD’ 6T6TM 3]6010 8 8 L1LI(H G 60T M 6UT. 6T(L0 S SV T 6L @ 6ulT G).I[FIT. eTeoTm)
GOUNLLU@GS o,

80. GHITLILEVL| TS S D& G ET 6Teorm &HenSulledr A lwr wmi?
a) G.m. b) BT.UTISS&FTTS c) LG d) 2185 M& LA &S [edr

81. 'CaHMUIL TS S L0GE&ET BTV FTHSH W S&Ms518 LUflensll QUMM S),600TH eTH?
a) 1981 b) 1991 c) 2001 d) 2011

82. G\.[JITIH T ITWLEUOTEOT QGTLEIG W UL LTY FL eumUQLDmSIL L|60)60T8 60088 61T 6T6L 6UITMmI
S|6MLP& & LI LI(H) G 60T D 60T?
a) QILLMTT @6eus&H WD b) &iflFev @evs&H WD

¢) BITLLTT @6ev&sSWwild d) GUFFIPE G @eVHHWLD

83. G\.OM. TWB W H60 5 56T I MEUTSHSIID THSHS 5emeVLILN6L QS MG LILIMTSG Qeuerleurh sieTereor?
a) BT m.el 6T 56015 556iT b) JITEQIBITIJITUI6T0T60T & 605585 6iT

) S\.JTBITIIITUIEOOTEI &6 & & 6iT d) &flF6 &G &6

84. 'CEHEMTUILTS S L0&G6T HTeued6or LI ciTeureool WIS S]6mI0HS 6UITeVTH M Hl&HLD6Y 6TSI?
a) &HSHS LU UM b) Wl gelq oyl &)
0 @BH W eNlGGeneult GUTTTLLLD d) 2_evssLl QU

85. GHMUGIL TS S D& G6T Bredler oL flWf eThs 2en) 1088 6rfledr eumbellweL &ITL &) & (65 L 6ot
@\h BIeM6VL] LIDL & SI6TemTI?

a) G&ITLIGVEVL|TLD b) @& TUIMeL S FTLOLD C) @LQFaI d) &iflgFev &M

86. Q5.QUM. ISeTTL & &HHSTeor Ty Feu LG ST LM WS W SLHenIy?
a) GL9L0SGS&6T STULIWLD b) S0P & & TH 6 o) slpr G (HLo6soTLD d) efgpggeneu
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87. L9l 60T6U (IH 61 60T6U M MI 61T LI K G\ 60T600T G LD &5 & 600185 (& HIT6L & @B 6T L{MLIQLITIH6T LM Samild GCF HI6V 6THI?
a) @) 6OTETMTHITMHLIGI b) GemeuABTHLIGI
) @evflwemauBmmLIS d) S em6uurnmemev BIMHenMLNLIGI

88. GLp& & 600TL UM MIET HTeVLQWITT LMMIW FHlIWITeT FammisGeners C5Is:
1. WSSOI WTS6T LHMIW &ML 886 &mevorLiL (h 8 60T meor.

2. 2 .. GUITL @) & 6metT 3mSR S H 6L QLMY QLIWITESSI6TETTy.

3. @BV WNG60l6L 2_aTeT @ W6 HIMeSlwl6v.

4. (WULIL6LTE LIGSH S| 2-60IJ SH600TL6UT LISILDEGOTITIY.

a) 1,21l 3,4 eum b) 1, 2,3, &ifl 4 Zeum 0234 gl 1 zaum d) s|emeTs &I Fifl

89. QUIN(HS SI5:

a) BT BTMHLS 1. 85600T6U0T (6h G & [ & 60T T

b) semeuld HTHLISI 2. 55 6UOT 60T Ml G &5 & 60T ITIT

) BlemeurQLms LbLISI 3. QUITWens WITy

d) em &1 Hlemev 4. LJ6LEUMBIGITLGOTITIT

a)1234 b)2341 4213 d)2314

90. SLh&6evoTL UM MIET “HSMHCMTTEHGSH &evall HVEET &6U6ITEUEVITEL” — 6T6dTM eufleml TR HIWEUFT WITy?

a) RETEmEUWITT b) &\ ([Heu6TEHeUT 0 GLIGMmUTT d) sriflume mest

91. "eTéveuIT efleNs G LD fl6eME &6V FMETCMHMTHGLI QUTIWT eflens G 6fleNd @ - eT6dTM GMmerfley G L Lb
QUM MIeiTeT 3 6v0l

a) Q& mev LN 6dreu (BBl 6m6v L 6vo] b) QUITET LI 6dTeu[H B 60)60 LI 600(]

¢) QMM UTH6T LI6dT6u (B 6] 6m 6V U 6vor] d) 2_euemin 3jeoof] Lil6dTeu (6] 6m6v L 6uor]

92. 'HEUMEIGITGI' 6T60TM G &F LS 60T @) 6V 8860018 (SN LIL| ?
a) TH TN QUWQIEFSFLD b) &ML eflemeTQuIEE LD

¢) QUWQIESLD d) er®Jemm ellemer QIS LD

93. 1D &5 6U0TL6U M MIGT &H6UMITEOTSI 6TSHI?

1. "@BHW BrlemL QLmhlsefler &TLFEFTeam6u” eTaTMeUl - & 3|58 H WS Mg 10
S rmelilL1 QUEBAL TP SGET - HLALD, G 8IS, LD6MEVW TETLD, & 60T60T L LD
sulb > Fyler > GlgedlL > FymellL eTeor HFmellL LD eTeoTeID QF TV HLALD 6TeOTMILD G &FMeV656L
O GHS 2-HeumuiiMmmi eTedrmI Famlweury FFFmerv LTS Fwmy
SOHALMAUN6L E\6TMI HLOES &S FenL 5 SI6TET HBIT6LESEB6T L& L LI ML W ITEOT HIT6V
Qgmevas UL Awib.

a) Saunlevemey b) 2 Seum ) 3 ol d) 4 eumi
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94. NS HUBHSBHTHT Q&TLLILILL LIMEG CausBTFRIWNT UemLenwsd Hrligll Lume oeflss @ LLb

3I?
a) QU MOBISLTLD CHITL6mL b) Reausmiens GHTL 6L

¢) BevoT(H&H&H6L CHITL 6oL d) &memerwmyCsmeiley

95. 61D & & 600T LU M MI6T (DLW TEFeT UMW FHlwmers gummigsener C5s:

1. QUWOHAUIWIT SI6MFTTE.

2. LRIASTY STeaflg S5I8585Ms 196660 @HB W e LF& aupikiGwgl.

3. uplbwemeuuileL BLHS eNpmeileL GH6TME (GLe LG ETITTITEV (LYW 6T6OTeRID LIL LD QUMHMITH.
4. 'S\ymeflL [HITL19.60T 6UITETIOLITLY 6T60T S{6MLN& & LILI(BILI6UIT.

a) 1,452 3 560 b) 1,2, 4 &1fl 3 Haum 01,3 451 2 seum d) 9jemers &N Fifl

96. G1p& & 6v0T LeuMMI6T ). W. UM GMISS FiflWImeT FamenmeeneTs C&THOSMH & 8:

1. sy lwnismeyll WeTtemen, @rmormesFs GeallFmrwilLs S ailb SLilh @) 6v8 8 60T §) 6V 8 &) L M &en6rT
SHOT.

2. 1886-9L1D 31,600T(H B (H& G MM 6T SLBIHSGSH L QLTHIIQLWTSSTH.

3. UG LTI ETG6U6sIT LITOTEm6Y, LiMBTNMI, CHeUMyld CLIMTETM Brev&semnerll UG LILNGST.

4. ODBTLIGMEG S 6uT auHens Liflhg eu@HLLh 1836.

a) 1,4 &1 2,3 Heum b) 1,2 &ifl 3, 4 Heum 01,3502 45600 d) Siemers &I &ifl

97. BLh& & euoTLeum MI6T Flwmers sahenms CHTHASM:

1. sl mPSlenw “2 WisHeNFQF DALMY 6Teur (& 60T (NG 6016V HlemeuBTLIg WUl LIS L0mME:emeuEhiy.
2. "QUF GUTIH6OIL. 60 & 6UIHS 6UGTETEVIT” 6T60TL] LI ML L LILIGQILIGUT Sl MI(N&SHITeU6VT.

3. BITHS WIS 6ITITEL “ 618 60T60T ITL.LG.60T £2IT60T & [T IT6uui1” 6T60T S{60LP& &G LILILL6UT D225 IDLIOITET.

a) 1,2 &ifl 3 Zeum b) 1.3 &ifl 2 Heumi 0) QeSS Fifl d) 2,3 &1l 1 eumy

98. Lflemp S F QLMAWTHS Q& mevorL HT{H & 6rfledr LIL1gU160
a) QTS W6, @ 6evhienss, &HeoTLIT b) NflLeor, NG Geysmer, AmbISLILLT

c) @6Vmlens, FBIGLILLYT, DGV WM d) LIM&levgmedr, LDCHIWIT, QS60T Qfl&H&T

99. L9l 60T6U (IH 6L 6UTEU M MI6IT HEUMITET QAFHTLMTS CHTHASH

a) G606V GHBITWITEL QL Q&HTETETL QLIMMEUT - SJLILIT

b) LDETTHC&HMTVEH 6V Ll Q& TETETL QUIMMET]T - &HSTT

¢) BB EUETITQ 60T HELETTIIEL 9L Q& TeTaTLI QUMM - FIDLIBHST

d) SGLIQLBHSIemMUIE) oL Q& TeTaTL QUIMMEUT - L0Meo1&H&H e TESH T

100. L9 6dT6u (15 6 6vT6U ) MIET LIMeUTeuoTy, QFMMHLEAMLUILIWE HE&ETWNSH69S G L QUESHTTESL
Ueoof WSS LILILL 1,600T(H 6TSI?
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a) 08.05.1974 b) 05.01.1981 ¢) 07.02.1902 d) 12.04.1976

101. The area of a field in the shape of a trapezium measures 1440 m2. The perpendicular
distance between its parallel sides is 24 m. If the ratio of the parallel sides is 5: 3, find the
length of the longer parallel side.

a) 45 m b) 60 m c) 75 m d) 120 m
Fifleusaulgellév 2 6iT6m e(H euwedl6trT LITLILIETEY 1440 &.15. GLOSYILD 3|8 60T @) 6M600T L& &M% EH &S @) enL Gl
2_6iTeT QG Meneue] 24 LS. @60 6TLIS&EMIGET 5 : 3 65T 55 6L 2_6T6Teur 6T6vr6L @) 601600T L1888 G) 6T IF 6ITLO M6t
3| 6116 6T6iTEuT?

a) 45 18 b) 60 LS Q) 7518 d) 120 LS

102. Find the sum of all natural numbers between 300 and 500 which are divisible by 11.
300 -8 (&L 500-5GLD @) emL Cuiw6Tem 11 9160 euGSUMLD S]60160TS S @) W6V 6T600T8 61Tl 60T Fo L L MHLIGVEIT & IT6U0TS.
a) 7227 b) 2772 c) 5667 d) 5443

103. A gardener wanted to reward a boy for his good deeds by giving some mangoes. He
gave the boy two choices. He could either have 1000 mangoes at once or he could get 1
mango on the first day, 2 on the second day, 4 on the third day, 8 mangoes on the fourth
day and so on for ten days. Which option should the boy choose to get the maximum
number of mangoes?

a) 2nd option; number of mangoes 1023 b) 2nd option; number of mangoes 1020
c) 1st option of 1000 mangoes d) 2nd option; number of mangoes 1120
U6l QFWIG @B F MGl uflFeaflss afl((BNW CHTLLESTTT Flev DMDLULNEIGm6T LFFTS
Sl6rfl&8 (LNETeUIHS ITIT. & T MI6U6IT2 L 60TLeW TS 1000 LOMLDLILDMEISGEMETLI QLM MGG & ITETETEVITID 3]6L6VSI
WS6LHBMerfleL 1 DMOLLPLD, @) Fe0oTLITLD HTerfl6l 2 LOMD LILMBIS 6T, ep6TMITLD HTerflél 4 LOMDLILMEIS 6T,
IHITEOTSITLD HTErfl6L 8 LOMIDLILPMEIG 6T eTeRI MM 10 [HITL& @5 & &L QLM MI& 6 & TETETeUITLD 6T6uT

UM & 6T 6lS S TT. S &6 mIeueT 58 6T600T600118 6018 WL 6IT6IT LOTLDLILPMEISEm6T QLM 6THS
suriiSemerr C5THAHH &8 Geuetor(HLD?

a) @ J600TLTeUG! eUTUILIL; LOMLDLILDHIS 6160 eTevoT6v0r1 8560785 1023

b) @ TevorL_meug! aumUulILiL]; LD LIPS erl6oT eTevorennl1&:emads 1020

C) (PSH6V GUITUILIL] 1000 LOTLOLILOMIS 6T

d) @esorLmaug! eUmuILIL; L0mD LIPS 6rfledT eTevoteonl 186008 1120

104. From Dharmapuri bus stand if we buy 2 tickets to Palacode and 3 tickets to
Karimangalam the total cost is 32, but if we buy 3 tickets to Palacode and one ticket to
Karimangalam the total cost is 27. Find the fares from Dharmapuri to Palacode and to

Karimangalam.
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a) The fare from Dharmapuri to Palacode is 7 and to Karimangalam is 6

b) The fare from Dharmapuri to Palacode is 6 and to Karimangalam is 7

c) The fare from Dharmapuri to Palacode is 8 and to Karimangalam is 10

d) The fare from Dharmapuri to Palacode is 10 and to Karimangalam is 8

SwLYK CUIHSI Blemeuw S 60l (B S LIMLECEHTLLYMEGS @ Tevor(h Lwewrd &L (H & EhLD,
STHWBISSS MG CLNETM LIWeTEFE L (H&EHLD 6UMTHIS Q0TS &LL6UuTLD €h. 32.LMuE G TLIME
eeTMI LIWeoT&FELH\& @B, &Miflnhig&EESSMES @@ LIWeorsEL (hLD 6uUMThIsS QLOMSHSHE &L L6oTlD erp. 27
SGLYFWN BB LUMusECaHETH LMMID STflWLNMKS&SED Q&F 66V &L L 60T S 606TE &IT600TS:.

a) 57U U BB S LMeuCHT(H a6 &L L 6ooTLh €. 7, STFIULNMBIGHEID 6UemT €. 6.

b) T U6 BB LITeEsST(H euem &L L 60Tl €. 6 nMmMID STfIWLNBIGEILD eI eh. 7 S G&LD.

o) Ty U6 ®BHS LITeEsTH euemT &L Leuorid ep. 8 nMmmIh STflWLNBIGEID eI eb. 10 Q@& LD.

d) sy flulledmBba LMeuCsET(H eueny &L Letord em. 10 LnMMmILD STflULDBIGEILD ep. 8 9, GLD.

105. If (a - b) is 6 more than (c + d) and (a + b) is 3 less than (c - d), then find the value of (a -
c)?

(a - b) o618 (c+ d) -2 Nl 6 SIH &1 IDMHMILD (a + b) SL,60TSI (¢ - d) - B ML 3 Gemmey etevilev (a - c) =P

a) 0.5 b) 1 c) 1.5 d) None of these

106. Pandian and Thamarai contested for the election to the Panchayat committee from
their village. Pandian secured 11,484 votes which was 44% of the total votes. Thamarai
secured 36% of the votes. Calculate
(i) the number of votes cast in the village and
(ii) the number of voters who did not vote for both the contestants.
2o L& 2 il Neor] GH 7556916V LIT6UOT LY.L 60T DM MILD STN6MT L& W @ HeuJ CUTLIqUILL6or). QLTSS
6UITE (B &61Tl6L 44% 1S TeuGI 11,484 6UITE (S 56T LITEUOT LW D1 & (&8 T 6055 60T. HTLOENITE (S 36% 6UITE: (& & 6iT
& 6015 & 60T 616016V

(i) @&EHTTNGH 6L LG 6UTET QLOTS S 6UITE (S 8 6r160T 6TeuoT600r18 608 WITSI?

(i) CUMLIQUIIL L @ [BHaUIHE (G LD 6UITE 8688 TS 6aUT& 6T 6188 6meoT GLIIT?
a)26100,5220 b) 25000,5000 c) 37500,6453 d) None of these

107. Jyothika secured 35 marks out of 50 in English and 27 marks out of 30 in Mathematicy
In which subject did she get better marks and by how much?

a)She scored better in maths by 10% b) She scored better in maths by 20%

c) She scored better in maths by 30% d) She scored better in maths by 40%

CRMHSHIT YYRIFH ST 6V 508G 35 L0G)LIGLIGUITS @B LD, 8 60078 H 6L 3085 27 L0 LG LIGU0TS @HLD QILIMMIT.
TLILMLS B 6L 3FH & 0BG LIGLIGTT QLIMMITT? eTélauene] S{H &I QUMHMITF?

a) Yl &e0l155H60 10% 3H 5 DG LIG LIS QLIMMITE
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b) 86Ul Sl HEHH L 20% H & LG 16 LIevor QUIMMITH
0) 9auT Henl|HSH6V 30% 3F& LG LI LT QLIMHMITF
d) 9laul &HemllHEH60 40%H & LDHLIGLIEsoT QUIDMITE

108. If the sum of two numbers is 55 and the H.C.F and L.C.M of these numbers are 5 and
120 respectively. Then the sum of the reciprocals of the numbers is equal to:
B\ (B eTevorS 6l 6dr Fn(B S 6V 55 LM MILD Y euMN6or LS.QUIT.6u LMHMILD S.QUIT.L0 WemmGW 5 LoMmILh 120 eTevflev,
IIhG 6Tevors: 6rfl6ir HemVBLD Fa(h)G6V 6TeUIETEY?

601 120

b) == o) = d) =

120

109. Find the GCD of the following:24(6x* — x3 — 2x2),20(2x® + 3x° + x*)

L9 edT6u (15 6u 6vTEU MM 63T LS. QLIIT.61 &Tevorss.24(6x* — x3 — 2x2),20(2x° + 3x° + x*)

a) 4x%(x — 1) b) 4x2(2x + 1) c) 2x%(x + 1) d) x2(2x + 1)

110. Priya bought a suitcase for 2,730. The GST for this item is 5%. What was the price of a
suitcase before GST was added? Also state how much of the GST added?

KNAwm 2,7305@ @0h &L CHemerv UG 6T TH. @)H& LI G LIT(HEHSH S TeT 2SleTeruly. 5%. elleTeruly
CFFHELILMUSMES (LP6TL @(H &L Csedleir eflemev eretTeor? 2lereruLquilev eTeuoUeTe] CEFF&SLILILL I
6TEOTLI6m S W|LD & 6v0T L MlweyLd?

a) Rs. 2600, Rs. 130 b) Rs. 2300, Rs. 120 c) Rs. 2600, Rs. 120 d) Rs. 2100, Rs. 110

111. The ages of two persons are in the ratio 7:9. After 6 years, the ratio of their ages will
be 8:10. What are their present ages?

a) 28 and 36 b) 35 and 45 c) 42 and 54 d) 21 and 27
@\ BLTSerletr euwa: 7:9 eTedrm NG G5 FH 6L 2_6Terment. 6 2,600T(H & 6T &1 5 &I, 3| 6uiT&6rfledr 6u L G)eor

G 5LD 8:10 9L LD. Sj6uF&eTlerT SMHCLITEMNSW 6UW B emesT &6vorLnlwleyLd.

a) 28 LnMHMILD 36 b) 35 LDMHMILD 45 ) 42 InMHMILD 54 d) 21 Lo miLh 27

112. The compounded ratio of (2:3),(6: 11) and (11: 2) is:
(2:3), (6: 1) WM MID(11: 2) BN WeuMMI 66T Fol () NS GLD 6T6dT60T?
a) 1:2 b) 2:1 c) 11:24 d) 36:121

113. A car travels 5 km in the first hour, 10 km in the second hour, 20 km in the third
hour, and so on. Find the total distance travelled in 5 hours.
@B &MY NGV 1 el CHTHH 6L 5 &).LS, 2 el CHTESH 6L 10 &.15, 3 evoll CHIS H 6L 20 S).LS LIwlevorLd
QEWSEMEI. 5 1060l CHTHH6L QLTSS LD 6T G ement .15 LiWetorld Q& WwlL@L?
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a) 130km b) 145km c) 155km d) 160km

114. A can do a certain job in 30 days while B alone can do in 25 days. A started the work
and was joined by B after 8 days. Find the number of days taken in completing the
remaining work.

a) 10 days b) 12 days c) 15 days d) 20 days

A @@ Ceusmeuenl 30 (FITLGelsilb 9CH Gauemevemill B 25 BT SGelsib QFWIG (PG LILITTSET. A Geuemev
QFIW STb95s 8 BTL&EEHEGL LNME B GauemeuulleL CETHSITIT eTeullev LSS (LN 6T Gouemevemill (LN1G.8 8

615 & 6M60T [HITL 6T IY,(&L0?

a) 10 [BITL&6IT b) 12 BITL&6T c) 15 BTL&6T d) 20 BITL&6T

115. Find the compound interest on Rs. 16,000 at 20% per annum for 9 months,
compounded quarterly.

a) Rs.2520 b) Rs.2522 c) Rs.2552 d) Rs.2502
. 16,0005 9 LOMTSMISHEHS (& 20% 24,600T(H QUL 658556V (NS56e5H Q&FWIS, &TeVTar(H & E (5L eNMm
CFFHSLILILLIT, Sal B 6UL LUl 606iTs &IT6O0TS:.

a) em. 2520 b) em..2522 C) €p..2552 d) e..2502

116. Best relation for the question from the following five diagram ?

Dog ,Pet, Animal , Falcon

GG QEMH&&LILL B 6TET 2H S uenyLIL MG 660 (BH S5 CeiTell& s menr F\MHE 2-Mey 65I1?
BT, euem LI efleursl (g, 6 6vkl @, LI [BHSI

v(®) 2(®)
(=) ()
O

5) None of these

a) 1 b) 2 c) 3

117. Which of the following words follows a logical order?
a) Leaf — Root — Stem — Flower b) Root — Stem — Leaf — Flower
c) Flower — Stem — Leaf — Root d) Leaf — Flower — Root — Stem
EC A&EMTH&SLILLHETET UTTSHmS & 6T 6ThHS eulflens &8 8IS W mers?
a) @emev — Geulf — Hevor(h — LDV b) Gaul] — H6voT(h) — )66V — LOEVIT
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) LDV — HETTT(H — @66V — Cauly d) @emev — eV — Geulf — Hevor(d

118. In the word "EXAMINATION", if the first and last letters are interchanged, the second
and second last letters are interchanged, and so on, what will be the new word?
"EXAMINATION" 6T60Tm 6UMJ&emnS uilev, (0&6L LoMMILD SenL T TS 5185 86T @LIOMMHMD Q&FWWLILILLITE,
@\ JEUOTLTeU S LOMH MILD @) T600TL.MeU S &60L F 6T SIS & 6T @ LI0MMHMLD QFWWLILLLITE, §C5ELIT6L
QBTLIHSITE, LIS 6UITTE 60 6T60TETeUTS @) (H& (S L0?

a) NOITANIMAXE b) NOITANIMAXI c) NOMITAXENAI d) NAXIMATINOE

119. Seven people (P, Q, R, S, T, U, V) are seated in a circle, facing inward.
a) P is second to the left of S.

b) R is opposite T.

c) Q is third to the right of T.

Who is sitting immediately to the left of V?

g BUTSEET (P,Q, R, S, T, U, V) @@ QUL LSH6 2 6TCHTEHS L0 HSI6GTETeOrIT.

a) PeredrLieuly S @ 6T @L SILMLD @)\ [J6UoTLTeugl @)L &H 6L S0 H ST,

b) ReretrLEUT T &@& THCY LT HSIETETIT.

) QererLeu T @)60T 6UELGIL|MLD eLNETMTEUSI @\ L& B6V DT HSBICTETTIT.

V @6T @LSILMLD WITH SO HSICTeTmT?

a)P b) U c) Q dT

120. Ravi starts walking 10 km North, then turns right and walks 5 km, then turns right
again and walks 10 km. Finally, he turns left and walks 5 km. Where is he now from his
starting point?

a) At the starting point b) 10 km East c) 5 km East d) S km West
76l eUL& G CHTEHER 10 B.15 HLESHS QFSTLEIGEMTT, LNNG eeugl Lmd Sl 5 §.15 BLER M,
WM& Weor(hLD euev gl LMD S(HLOL 10 SIS BLESOTT. @ MIS WS, jeul L& Lmd S ;B 5 .15
BLERMTT. 3jeud GLICLIMGI &60Tgl Q&MTLES LeTeflullel @ (bHS! 6ThGCsH @UHEHHMTI?

a) QBTG5 LaTerfluflev b) Bp&HE& CHTHSR 10 &.LS

o) BP&ES CHTHSR 5 &K1 d) GLM©& CBHTEHSH 5 &K1

121. Pointing to a photograph, a man said, "I have no brother or sister, but that man's
father is my father's son." Whose photograph was it?

a) His father's b) His son's c) His nephew's d) His own

@5 LemSLULILSMS SGLI9H&TLLY 6 D615 60T, "6Te0rsh @ FG&HMSHT6r LnMMILD FCHEMSI] @) 6Leme6v, SI,60TIT6V

36 L060I & 601160T HIhem 6T60T &M & UI6IT LG 60T" 6T60TMI T M GOTITIT. SIS WITIHEOL W Ljem&LILILLD?
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a) QUG HHensUIN6T LjemsLILIL LD b) &IeUTEl 0&60fl6dT Lien&LILIL LD

C) SjQUTSI LDIHLOGH60f160T Ljem&sLILIL LD d) 9jeusl QFMHS L|ensLILIL LD

122. A bag contains 3 red balls, 4 blue balls, and 5 green balls. What is the probability of
drawing a blue ball?

(% emLIudleL 3 FeulliLy, 4 Heulh, 5 LFeMF LITHSISH6T 2_6Temeur. 62(H Hev LGS eT(HLILISMH T B1&HLDGS &6
6TGUOT6OT?

a)1/3 b) Y4 c)1/5 d) 2/5

123. Count the number of triangles?

(LD 8B & ITEUUT Ml &5 61Tl 60T 6TEUUT 60U &5 60185 6TEOTCOT?

a) 12 b) 18 c) 22

124. From the below figure which is standard dice ?

OhS LI&L&eTl6L 6TSl BlemeuITeT LIGemL P

PP

a) 1 b) 2 c) 3 d) None

125. If it is Monday on 1st January, what day will it be on 1st February of a non-leap
year?

a) Tuesday b) Thursday c) Friday d) Wednesday
6511 8j6L6eUITE (non-leap year) 31,600TLq.60 226uTeurf] 1 QLb CHH HMEIGET GLpemln eredTmMMev, LALIFeurfl 1 94lb
G55 6T6OTEUT [HITEMITE: @) (1H & ELD?

a) QF6ITUIGSHILPNLN b) elWMp&E&E LMD ¢) QeleTerflE&&H pemin d) UseT&H pemnin
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126. What happens when light passes through a convex lens?

a) Light is reflected b) Light is focused to a point

c) Light is dispersed d) Light travels in straight lines
f&EaE T &6l Qeveirendleir auNlWMTEHEF QFLSILDCLIMTS 6T6Te Hl&HLD6Y [HL & TMSHI?

a) eefl NS Le&&ELILGRMS b) eeerfl 2 Lieimefluiley @ellsaLILGSRMS
o) @6fl AN &ESELILGR S d) eperfl GHIGCSHML19.60 LIl &H M

127. What is Tyndall scattering?

a) Scattering of light by large particles in air

b) Scattering of light by molecules in a vacuum

c) Scattering of light by colloidal particles in a colloidal solution
d) Scattering of light by atmospheric gases

19.600TL_IT6L epé6rfl GG M6V 6T6OTMITEL 6TEOT6UT?

a) BmmMlsvieTer QUIflW &iG6TH6TTeY gL eerfl AFHmev

b) QeumNIIL_GGH 6V 2_6ITEIT eLN6VE: T MIGHETITEY 6Tl FIGMEL

) FalplnG HNTFI6V 2 6T6T Fn P0G SIH6ETHETTEL LI 6l AFmey

d) euerflLDesor Leu & FH6V 2 66T aUMU&&H6TTeV gFMLIHILD eperfl Eme

128. Ultrasonic waves can be used for the treatment of kidney stones in a procedure
known as

a) Electrotherapy b) Lithotripsy c) Radiotherapy d) Endoscopy
FMPres sMEEESHEG PR EmsweallsEs AWM 96mevsEemeTLl LIW6TL{H &S6VITD, @HS G1&FWeV(penm
TeUGUITY |60 & & LILM S MG

a) Wer PR Feng b) 95CHTL LIS 0 &HFWES PR Fang d) eTevoT GLMerVG&H LI

129. The speed of sound in water is approximately

a) 340 m/s b) 1500 m/s c) 5000 m/s d) 1000 m/s
& evotevot [fl6L e6dludleir Geusslh G MTITWLDTS

a) 340 LS/e b) 1500 LS/e ¢) 5000 LS/ex) d) 1000 wS/ex

130. Which of the following is an example of infrasonic waves?

a) Ultrasound used in medical imaging b) Earthquake-generated seismic waves

¢) Radio waves used in communication d) Audible sound from a musical instrument
L9 edreu (HeusoTreu MmNl 6L 6TF1 SHFFULIL] S MOVEEHE S R THSSIGHHTLH?

a) DS SI6! @ CLIBIT 6L LIWeTUBSSLILIMHLD 36V TEF6 6oL

b) LGS STE 2 ([HaUTEH&LILILL Blev HHT6) (606056
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0) B&6U60 QSMTLILIL LweTURSSILGLD g G &6meusseT

d) @en&s sHeluedmbal C&HL &85 1. 660

131. Which metal, due to its superior corrosion resistance and ability to form a galvanic
cell as a sacrificial anode, is predominantly used in the electroplating process to prevent
corrosion of iron in high-salinity environments, such as marine applications?

a) cadmium b) tin c) zinc d) magnesium
SLEFTT LWeTUTH &6T CLITETM 3B & 2 LIL| 5 S 60Tenln Q& TeuoTL (G Lp6euaernleu @ Loy Fllemug

5H &8 E6TINEVITID L&D Q&FWEILITLLY60, 9ISH60T 2 WiThHe N erSFLIL MmiLh e@h G T LSl6oTeu s
&TLEUETIS &6V8 60 2_(IH6UITE (GLD BMEIT SHITFEUTIONS, 6THE 2-G6UMTSHLD (&S WIMELI
LweTU@SSLILG S mS1?

a) Smlwib b) Lq.60T 0) SIHHBMGELD d) QL& efF Wb

132. Which of the following materials offers high resistance to electric current?

a) Copper b) Aluminum c) Nichrome d) Silver
Netreu@hlb QUTIBLSG6M6L 615l OlTFMISHMES B8 THTLI6OL aULPRBIGHRMSI?

a) sl b) @jevLdleoflwiLd 0) BI&GIMD d) @eueierf]

133. Which combination of materials or compounds is predominantly utilized in the active
layers of Light Emitting Diodes (LEDs) to achieve a broad range of visible light colors,
including blue, green, and red, through precise bandgap tuning in advanced lighting and
display technologies?

a) Aluminium Gallium Arsenide (AlGaAs) and Zinc Selenide (ZnSe)

b) Indium Gallium Nitride (InGaN) and Gallium Nitride (GaN)

c) Gallium Arsenide (GaAs) and Gallium Phosphide (GaP)

d) Silicon Carbide (SiC) and Silicon Dioxide (SiO,)

serfl 2. 101w b L Cw @ s erfléy (LED) 2 6iTelm 9B & & &6rflev, Gl L sperfl oM MID ST
QsmflcumLLMsSerflev Heuld, LFem&F LDMMIL FeullL] 2 6TefllL LIFHE Semalileument LjeuILI{HLD sperfl
BIMEIGH6T 3|60 W, Fl6vedlwInmeoT GLIeuoTL.Ca L1 L, 60l eLN6ULD (NS EITEmOW TS LW6TUR &S LUUG LD
QUIT(HET 3]6L6V T HeVemel 6THI?

a) el &TedWd o FFemeT(h (AlGaAs) LDMHMID SIS SHHTS QEFevemn6T(h (ZnSe)

b) @evoriquild &medlwlh emBLemT®H (InGaN) LnMHmILd &redlwilh enBLlenT( (GaN)

¢) &MEOlWILD gy FFemeT(h (GaAs) LDMMILD &TedlWiLD Limeuen LI (GaP)

d) Fefl& s mer sMFenLI( (SiC) LnMmmild Fe0&ameT el o8& (SiO,)

134. Who developed the first monochromatic LED television screen?

a) Sony b) James P. Mitchell c) Steve Jobs d) Thomas Edison
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W6V eMemm BIM LED Q5 MTemeus&TLFS HenTenll 2 (HeumseSweur wmy?

a) G&meof] b) Gggwbenv L. LN G &6v c) ehuieel rLie d) STLDEN 6TLq & 6dT

135. Which of the following was the first type of electroscope?

a) Pith-ball electroscope b) Gold-leaf electroscope

c) Versorium electroscope d) Metal rod electroscope

LS 66T6u (1H 6u 60TEUMH M1 6V (LNG56V GUEM S 6TELE L GIFMTVBSHITL 6TSI?

a) LN&-LImev 6Teu &L Gmen@as Ll b) HHIG-@)6m6V 6TV LG MerVESITL

¢) QaurGamluLd eTev& L G menGas Ll d) 2 Ceumag &L eTevs L Crmen@ssmLl

136. Consider the following statements regarding the use of Duralumin:

1. Duralumin is used in making aircraft.

2. Duralumin is used in making scientific instruments.

3. Duralumin is used in making tools and pressure cookers.

Which of the statements given above is/are correct ?

a) 1 and 2 only b) 1,2 and 3 c) 1 only d) 2 and 3 only
19w, 7 reviLd) 6ot 60T LIWETLIM® Q&ML L6t L9 6dTeu (HLD Fa. () MG 6M6TS & 61601 M6 & 6iT:

119w yrewSiesr eflmeord SWIFLULUS 6L LWeaTUGSS LGSR MSI.

2. purmadlerr oiMlefwev &HeilsG6T WML 6L LwWeaTU®SSLILGSHMmS.

3. Qu,rrewfledr &@Hell&eT LnMmMIWL LNFaqF G&&THemeT SWMLILSG 6L LWeaTURSSUILGS M.
GG QHMH&SLILLH6TET sadmi&erfle ergl Fflwmersi?

a) 1 lnmmILd 2 Ll (HLD b) 1, 2 lnHmiLd 3 o 1L @D d) 2 inmmith 3 (D

137. Consider the following statements about common hydrated salts:

1.Blue Vitriol is chemically known as Copper (II) sulphate pentahydrate.

2.Epsom Salt is Magnesium sulphate heptahydrate.

3.Green Vitriol is also known as Zinc sulphate heptahydrate.

Which of the statements given above is/are correct?

a) 1 only b) 1 and 2 only ¢) 2 and 3 only d)1,2and 3
Qumgleumeor BEFHMUILILL 2 L &6T Ll LNeTeu(BLd FuMMIHem6Ts & 6w 60l MhIg6T:

1. Bev L flimeb CeuBuwev FEHW s srluF (1) FCUL QUETLTemam L GyL. éTeirmI
SMPSHHLILOHMSI.

2.6TLIFLD 2 LIl 6TeTU Sl Qg af@wid FuCUL QanliLmamanl Gl o, GLD.

3.uFeam& LIl eTeTUS SIS SHTE FLCLL QamLILTeamanL Gyl eeaTmilb SempsHEELUIUGHMSI.
GG QEHMH & & LILIL(H6Tem Fnmmiserle ergl &Fiflwmeorgi?

a) 1 L (LD b) 1 LoMMIb 2 ()LD €) 2 oMmMID 3 (LD d) 1,2 lommib 3
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138. Consider the following statements regarding hygroscopy:

1.Hygroscopic substances absorb moisture from the atmosphere without undergoing a
change in their physical state.

2.Phosphorus pentoxide and quicklime are examples of hygroscopic substances.

3.All hygroscopic substances are liquids.

Which of the above statements is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d)1,2and3
M &CImaVCETLY QSMLT LM LN6TeU(BHLD So M MISH6M6TE & 6u 60T Mg 6T:

1. MM &CFMrVCHTLINE QUITIHL 86T Seummleir @umLIwev Mlemeuulev 6ThHG LMMMIPLD FHLILTLO6
cuerflL0 60T 6V S B Ol (B 1H &I FFITLILIG & 60 2\ (eh & &) 60T M 60T.

2.UmehuLITen QUETLMHem&E® LM mIlD eflemn ey & 6uoTevoTTOL] O Wemeu emam &G mervGasmLild:
QUMBL&HEHE S 6T(H 5 SIHETL(H 6.

3. 9METS S MaM&CTTEVCSHTLIS QUITIH L& EHLD B IT6ukISe6iT.

Gl M 6U0TL. S M MG 66V 6181 SEifluimeorsy?

a) 1 lnmmiLd 2 L (HLD b) 2 LnMmmith 3 ()LD c) 1 wmmib 3 I @GlLb d) 1,2 lommib 3

139. Assertion (A): Phosphorus pentoxide is used as a drying agent in laboratories.

Reason (R): It absorbs moisture from the air without changing its physical state.

a) Both A and R are true, and R is the correct explanation of A

b) Both A and R are true, but R is not the correct explanation of A

c) A is true but R is false

d) A is false but R is true

Faml (A): SyleusEMmIGefl6L LITEuLITev QUETLMTHmMEFRH 260TSHSID (NHTTSEL LWaTUGSSULUG SR M S!.
&myevorid (R): @ &1 &THMeS(BH S FILULUSSMS 31560 @wmLiwey FBlemevenil LMHMTO6 2 MlEh&HR M.
a) A lnMHmiLd R @esor(d &ifl, R eredrLIG A @607 &Fiflwimeor ellem& &0

b) A lnMMIh R @Jevor(hID &F1fl , 24,60TT6L R 6T6TLIGI A @\ 60T FflWimenT ellamd: &I 3{606V

o) A eTetTLIG &ifl , 9L60TIT6V R 6T6OT LIS SHeumi

d) A 6T60TLISI SaUMI, 60TV R eTedT LG &I

140. With reference to hygroscopic substances, which of the following is/are correctly
matched?

1. H,SO, - Hygroscopic liquid 2. CaO - Solid used as drying agent

3. SiO, - Used in electronics only 4. P,O;5 — Absorbs water vapour efficiently
Select the correct answer using the code given below:

a) 1, 3 and 4 only b) 1, 2 and 4 only c) 2, 3 and 4 only d1,2,3and 4
BT 2. MlEha b QUTBLEMETL QUTMIS S auen, L 6iTeu(Heuereumnlev ergl Filwmsll QUITBH SIS MmS1?

1.H,S0, - BT 2_MlEh &b G yeaulb
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2.Ca0 - 2.6V SID (WP&HUTTSL LWeTUMSSLILIG LD S LLIQUTIH6T

3.Si0; - W etreoramiafl wedl6v LG LwWeTUGSSLUILUGSH MSI

4.P,0; - Hrmellemw SmbLL 2 MEhsRmsi

SC QsMHHsEUULR 6T GMIuiienL 1 LweTu® S sFrlwmer LG eanavs C5THASH & &6y Lh:

a) 1,3 lommith 4 I (ILD b) 1, 2 lnmHmild 4 0L_(HILD c) 2,3 MmmIh 4 0L (hILD d) 1,2, 3 mmibd 4

141. Which one of the following pairs of substances includes a weak base and a strong base
respectively?

a) Blood plasma and egg white b) Ammonia water and Caustic soda

c) Fresh milk and vinegar d) Baking soda and tomato juice
etTeu(BLh 6ThS @) emetorerfleL (NemMCW QFMley Gemmbhs ST QFMleydlG SMFINLD 2 6Temeor?

a) @55 LeTmerulnm LoMmmild (pLem LUl QleueTem6Ts: & ([ b) 9D mesflub B LDHMILD SMevIg8 CF LT

¢) LML nmmih elleotl sy d) GUGEGHIMI GFMLIT LDMMILD &G el Fmm

142. With reference to the pH of common household substances, which of the following
statements is/are correct?

1. Lemon juice is more acidic than coffee.

2. Egg white has a lower pH value than vinegar.

Select the correct answer using the code given below:

a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 nor 2
il 2 LCWMsHL QUITIBLS6rfledr pH ememaull QUITMIGSHaIemT, LNeTeu(blb Fammisefley erg Fiflwmeors?
1. bl Fens ey Srlenw el LOl6VE S ETemLD @ & T6U0TL Sl.

2. (pLemLulledr QeusiTemensd: & efleuflsemiy Sl G emmeumeor pH DG LIemLIS G & Tevor(h 6iTem.

GG Aam@Hs&sLIULBG 6T GMuilemL L LweTU® S S FRlwmer LUGlemevsd C&THA S M & &eayLD:

a) 1 L (b b) 2 L_(MD o) 1 mmIb 2 @Ievor(h LD d) 1 Q6veVSI 2 6LV

143. Caustic soda (NaOH) is used in which of the following everyday applications?

1. Soap making 2. Paper manufacturing

3. Antacid formulations 4. Cleaning clogged drains

Select the correct answer using the codes given below:

a) 1 and 3 only b)1, 2 and 4 only c) 2 and 3 only d1,2,3and 4
&MeivLq.8 GFIMLIT (NaOH) LeiTau(BLD 6ThS S|60rmML LweTUm@HS&eflev LweaTURSSULGSRMSI?

1. Gy swriflg s e 2. 5MH5 2. MUSS)

3. 9jflev TH T LILY LO (B IH S8 6iT 4. 9l LILL UILSTLSHMET &S0 QFWISS6

SCW AamO&&LULBG 6T GMuiGsanerl LwWaTU® S S Fflwmer LUGlamavs G5 ITHAS M &&ea]LD:

a) 1 MM 3 L (HILD b)1, 2 LDMMID 4 10 (LD c) 2 LoMmMID 3 DL (LD d) 1,2 3 mmild 4
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144. Tooth decay occurs due to which of the following?

1. Drop in the pH of saliva below 5.5

2. Reaction of acids with calcium phosphate in the enamel

3. High basicity of saliva

4. Presence of strong alkalis in toothpaste

Select the correct answer using the codes given below:

a) 2 and 3 only b) 1 and 2 only c) 1,2 and 4 only d) 1, 3 and 4 only
L9 60T61 (1 6 60TEU M NI 6V 6TSHGTTITEV LIGL QFMTHMS LB &M S1?

1. 2.101p B 6T pH 5.5 &@&& ECLD (& 6MMEUTIT6V

2. eTeor TN6916L SHMLEF WD LIMrVCUL (B L60T 3jLSleumi 6T 6lement Lfleusmev

3. 2 1B fleir 918\ & STTEHE60Tenn 2_6T6ITS TeV

4. uHLIEMFUS 6V 61 SYIEUITEUT &ITITMIGET @) (HLILIGIT6L

SCW Aam@s&LIULBG 6T GMuiGsameT LWeaTU®G S S Frlwmer LGlamas C5THG S5 M &&eLD:

a) 2 InMmmILd 3 L (HILD b) 1 LnmmuLb 2 oL (HILb o) 1,2 nmmid 4 0L_(HILD d) 1,3 lnmmib 4 oL_(HILD

145. Which of the following statements is/are correct with reference to soil pH and
agriculture?

1. Rice requires slightly alkaline soil.

2. Citrus fruits grow best in slightly alkaline soil.

3. Sugarcane requires neutral soil.

Select the correct answer using the code given below:

a) 1 and 2 only b) 2 and 3 only ¢) 1 and 3 only d) 1,2 and3
Lo6voTeuuTl 60T pH LOMH MILD efleuEF MWD QGTLTUMeT L 6iTeu(BLD Fa MiSGeilev eTgl Fiflwimergi?

1. QLGS &MY LD6sT CHemauLILIGIRMS!.

2. G\L[y6rV LILPEIG 6T &IT LD600T600T 160 FI\MLILITS 6U6T(HLD.

3. (B &G H{HBlemev 6T CHemauLILIGS M S.

GG Aam@s&sLIULBG 6T GMuflamL Ll LweTU® S S Frlwmer LUGlemevsd C&THASH & &eayLD:

a) 1 LmMILD 2 L (HILD b) 2 LbMMID 3 L (LD ¢) 1 wmmib 3 LG d) 1,2 ommib 3

146. Consider the following statements regarding hydrocarbons:

1. Alkanes are saturated hydrocarbons and are less reactive than alkenes and alkynes.

2. Alkynes are the least reactive hydrocarbons due to the presence of the triple bond.
Which of the statements given above is/are correct?

a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 nor 2
QML CI MGG 6T Q&TLITLIMer LI6iTeu(BLD SaM MIG606TE & 6L 601 Mg 6iT:

1. 3L,6VCEHEITH 6T BlemmeyMM enQMLGIT TS ITIT LGS 6T, 21,608 8 60T& 6T L0 MHMILD 260608 60T 6m6IT 6L

& 6mmeu et 616060TS S MEOT 68 TEOOTL60I6L.
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2. WL emetoTLIL] @) (BLILIGITEL 360608 60TS6T &8 GemmbS 686me6urs S MedT 618 MeuoTL
QLG MTa:ITITLI6OTS 6.
CLGev ABMH &S LILIL B 6TeT gammiserfleu ergl &iflwmeorg?

a) 1 LG b) 2 LD c) 1 mMID 2 @ Tevor(hLd d) 1 26L6LSI 2 6LV

147. Consider the following statements regarding ethanol’s role in food and flavouring:
1.Ethanol is used to enhance the flavour of food extracts.

2.Vanilla extract is commonly processed using ethanol and water.

Which of the statements given above is/are correct?

a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 nor 2
2 60T LoMMILD FremeuUlL L6916V 6188 60T medl6tT LIS G5 LN 6dTeu(HLD &a.(h WIS 6eM6TE & 6160l MHI & 6lT:

1. 2_eooTey & FMHN 6T &Femeuenll &8 8 615G 60TTeV LIWTLG S SLILGSH M.

2.QeueuoTeunTl 6L IT FITMI QILIMTSIEUITS 6785 60TIT6L LOMMILD & 6voTeoofem T LWeTUR S S LUSLILGSSLILGSH M.
GG Q&BMH&&LILIL DB ETET Fammiserlev 618 Fiflwimergi?

a) 1 (b b) 2 I0L_(h\LD ¢) 1 mmih 2 @ Fevor(hLd d) 1 9j6veu sl 2 @IetoT(HLD @)6LemI6Y

148. Consider the following statements regarding the uses of ethanoic acid:

1. Ethanoic acid is commonly used in printing on fabrics.

2. Ethanoic acid is not useful in making plastic or pharmaceuticals.

3. Ethanoic acid is commonly used in food preservation and flavoring.

Which of the statements given above is/are correct?

a) 1 only b) 2 and 3 only c) 1 and 3 only d1,2,and 3
61585 Cermuils 9|Lflevs B 6T LIWGTUMTH& 6T QG TLITLITET L 6tTeu(HLD FaM M8 M6 &6 60T L M6 & 6iT:
1. 155 Cermuilg Sjdleulb QUMGIEUTE FlaulSGeaflev SFFRRHauFHMHGSL LWaTURSSULGSRMSI.

2. 75,5CerTulls jfleuld LeTMerVLg.8 36V6V S LOIHHSILI QUITIHL&6T SWMFlLILG 6L LW sI6TeTs e
@ 6Lemev.

3. 15,5 Ceormuilg: ifleulh QUIMTSIGUTE 2 600T6Y Ll LIMSISTLIL] L0MHMID Semeuull Ledl6L
LWeTURSSLILGSR mSI.

GG A&BMH&&LILIL BT ganmmiserfley ergl &iflwmeorgi?

a) 1 L (LD b) 2 LoMMib 3 L GILD ¢) 1 wmmib 3 LG d) 1,2, lommib 3

149. Which of the following animals is correctly matched with its group?
1. Panthera tigris - Mammal 2. Asterias rubens — Mollusca
3. Periplaneta americana - Insect 4. Hydra vulgaris — Cnidarian
Select the correct code:
a) 1, 2 and 3 only b) 1, 3 and 4 only c) 2, 3 and 4 only d) 1, 2 and 4 only
etreu(pLb efleumi(G S&erflev 6151 318 60T & (W 6y L6dT Fflme L QUITIHH SIS MmS?
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1. umThHBrT L& flev - LmeuTLIg 2. opervieflwmeny emGILI6iTeNV — GILDITEVETV S IT

3. Uil Gemrm@eTL LT QW& merTT - LL&F& 4. emam LT euevamilev - PeoflGL wedr
giflumer GO enL S CaHTHASH & &eyLD:

a) 1,2 nMMID 3 L (LD b) 1,3 LMHMILD 4 WL HILD 0) 2,3 Wwmmid 4 WL BHILD d) 1,2 ommild 4 L (HID

150. Assertion (A): Poriferans are called “pore bearers.”

Reason (R): Their bodies are perforated by numerous pores called ostia through which
water enters.

a) Both A and R are true, and R is the correct explanation of A

b) Both A and R are true, but R is not the correct explanation of A

c) A is true, but R is false

d) A is false, but R is true

Sammi (A): CUTHSQLITTEOTS: 6T "SI 606 &ITMHIG & 6IT" 6T60TM 3 60L& 8 LI LI([H) SR 60T M 60T,

&TIeurid (R): SeumMI6dr 2 L6V 6T SL,6MVLGWIT 6TeoTLILI(HLD 6 IJITEITLOITEUT S16016ITE 6T 2_6IT6IT6uT, 3|8 60T eLpeULD
By 2 61 BIMPE DS

a) A lnMHmILd R @uevor(Hb &Fifl, Gosyild R eTadTLIG A @ 6T Fiflulment ellemgssin

b) A LMoL R @ Tesor(hild &Fifl, 9L60TMeL R eTedTLIG! A @) 60T SFIflimeor ellemdh&LD 606V

) A eTedTLIG &I, 9L60TT6L R 6T6T LIS &61 )

d) A 6T6TLISI SauMI, 3Le0TT6V R eTedT LG &

151. With reference to Went’s Experiment on coleoptiles, which of the following
statements is/are correct?

1. He used the coleoptile tips of Avena plants.

2. He showed that some chemical substance responsible for growth diffused into agar
blocks.

3. He concluded that the presence of chlorophyll was essential for auxin production.
Select the correct answer using the code given below:

a) 1 only b) 2 only c) 1 and 2 only d) 1,2 and3
QeueTL C&meSlCWIMTLIEML6VE6T g mer LFICFTSHemerenlll QUITMIS S euen(y, LeTau(hLD Fammiserfley ergl
Frflumeorg?

1. QeUEITL. S|Q6UEDTIT HTeumIgGeTleT C&medlGWITLIenL 6L HieolgemerLl LiwedT LI & S 6T,

2. QUETTER &G &TTrnmer Flev GauGulllch QUITIHET ST QS TEGH H6TTEH LIT66UemnS G6u6iTL
STLIQ.60TITI.

3. 9LGEFGT 2. MUSH GG GCTTCHTLI6L @) (HLILIS S euFIWLD 6TeoTm QeuU6eiTL (L6 QFWIGITI.

SCW AamH&&LIULBG 6T GMuilemL Ll LweaTU® S S Fflwmer LUGlamevs C5THGASMH & &eyLD:

a) 1 (b b) 2 nL_(h\LD c) 1 wmmih 2 I @GlLb d) 1,2 lommib 3
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152. Which three of the following features apply correctly to animals belonging to Phylum

Arthropoda?

1. Presence of haemolymph 2. Jointed legs and segmented body

3. Closed circulatory system 4. Excretion through malphigian tubules

5. Locomotion through parapodia 6. Moist body surface with thin cuticle
Select the correct answer using the code given below:

a) 3,4 and 5 b) 1,2 and 4 c)2,5and 6 d) 1,3 and 6
LetTaU(BLD 6THS DEFMBIGET H6mLIEUID LTHCTTCUMLTemeUF CFIHS 696V Ehs & FrlwmsLl
QUIT(H 1 I S\ 60T M 60T?

1. anfCLomedl b L 60T @ HLILY 2. @\ M6UTIHS SMeLE6T LM MID LKNl&&LIULL 2 L6V

3. enIQW &HMHCMITLL jemloLiL] 4. Lmevs LNl wiedr GLmUS6T eutlwims QeueflGummLb

5. LUFGUTIQWIT auSIWITE @ W& &LD 6. QLDGLEOIW B ULL 1986V Q& TEUOTL. [FITLOITEIT 2. L6V GLoMLITLIL]
SC AamH&&LIULBG 6T GMuileamL Ll LweaTU® S S Fflwmear LUGlaes C5THASMH & &eyLD:

a) 3,4 LDMMILD 5 b) 1, 2 InMHmILD 4 €) 2,5 MmmILD 6 d) 1,3 oMM 6

153. What does the Law of Independent Assortment refer to?

a) The dominance of one trait over another.

b) The separation of alleles for different genes during gamete formation.
c) The masking of a recessive trait by a dominant one.

d) The influence of environmental factors on gene expression.

FryLiern e8Ik B aanss GMERMSI?

a) &(H LievorL] oMM meTHledr 1581 S HE &L Q&85 SIS 6V.

b) G&LOL_ (D &6 2_(HeumHeSleT CLIMS QeuslCaum e36iTsHEHS585ME 3 6Ved6uaaT LIl ev.
o) @O LIetiTenL SpH &G0 QFNISSILD LIGHTL| LD60M &5 6V.

d) nyusm QeuefliLm1g6) &MHmIF EL6y STiyevotlserfler QaFeaalTs &

154. What types of earthworms cannot be used in vermicomposting?

a) Peryonyx excavates b) Essenia petita c) Eutrilus eugeneae d) Feredima posthuma
evorL (W 2 7 SWrilltlé LWeTUMSS LILMTS LOEUITL|(LD 6UeM& 6THI?

a) QuUIflGW menf &6 6TerV&HEaIL L6V b) eTerV@ & 6ot WIT QLI LT

o) WL flevey w,edlest1GWl d) QUGQFIQ LT GLITEVGILOT

155. Choose the Correct Statement/s among the following:

(1) Light needs a medium like air or water for its propagation.

(2) Red light has the longest wavelength among the visible spectrum.
(3) Violet light scatters more than red light in the atmosphere.

(4) The speed of light in vacuum is approximately 3x108 ms-1
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a) (1), (2), and (3) b) (2), (3), and (4) c) (1), (3), and (4) d) (2), (3), and (4)
giflumer sgamenms C5THASH &&e]LD:
(1) eerfl 31H60T LTUNIEGS STHM 36LVeVGl BT GLITEITM 6(H 2ETL_GLD C&H6m6L.
(2) FeuliL sper], HevtTamI &GS QS Wb Blmwmeneuuiley W& HeTnmer ojemevifensgeng g G & mevor(H6iTeTgl.
(3) euerflDetTL6VE H 6L FlauLlL eperflemw eNlL 2ar5 T g6rfl JH&HIWMTH FHMIESLILGH M SI.
(4) QaumMIL& B 6L sperfluileir Geussld CHMTIMWLOMS 3x108 ms-1 9L(&LD.
a) (1), (2), LbOOID (3) b) (2), (3), LOOAYILD (4) o) (1), (3), LDOYILD (4) d) (2), (3), LLOAYLD (4)

156. Match the following
Types of Scattering Their Characteristics:
(a) Rayleigh Scattering . Caused by particles of size comparable or larger than the
wavelength
(b) Mie Scattering - . Results in new wavelengths (Stokes/Anti-Stokes lines)
(c) Raman Scattering - . Inversely proportional to the fourth power of wavelength
(d) Tyndall Scattering - . Scattering by colloidal particles
LSl eTeu (B eucoTOUM MM QLIM(H S 18
FIH M6V 6160 86T - SjeuM N 60T LI6ToT L &5 6iT
(a) GrGev A\F M6V - 1. gjemeuBemSH MG @R &8mIqW 3 6V6v& QU W SIH6THTT FMHLUBGSMSI.
(b) 1§ F\mev - 2. 4BW 9em6uf eSS 6T (6FVGLTE 6N/ 3L 60TLY -6V CLITE 6 G&s IT([H & 6iT)
2_(15 6T ) 60T M 60T.

(c) TITL06T B HMmev 3. 9emeuIhens B 60T TGS SHHH MG HMLELPTSH NS GTFTTLD.
(d) 19.600TLIT6L NGB M6V 4. FalpIDG SIHETHETTEL F1HMmev.

(@) (b) () (d)
a)3 1 4
b)y1 3 4
c)4 3 2
d21 3

157. Find out the Incorrect Statement/s among the following:

(1) Convex lens is used to correct myopia.

(2) Concave lens is thicker in the middle and thinner at edges.

(3) Concave mirror provides a diminished and virtual image when the object is far.

(4) Convex mirror always forms virtual, erect and diminished images.

a) (1) and (2) b) (2), and (3) c) (1), (2), and (3) d) None of the above
L9l 60T61 (1H 6 60TEU M M 6V T 6UMITEUT S MEMME & 600T LMl L6y LD:

1) SLLiuurfeneuenw FRlAFw G Qeveiterv LWeTUR S SUILG S M SI.

(2) B Qevetterv HHN6L Flg 6T edlerflibL S erfléb QLELESIWSTH LD @) (55 (S LD.
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(3) QUTHET QG TeMmeV6eSl6L @) (H&GSGWLEUIMS G &6uoTevoTITLY. & (H FIMIw WMHMID ALWEIST KbUSm S
ULPMBIGH M.

(4) &6 &6voTeuoTITLY. 6TLIGLIMSID QWIFBIST, GHITmer WMmID S1nflw LD LIMKI&eme6rT 2_(H6eU s G & M Sl.

a) (1) LOH@YLD () b) (2), LHDILD (3) 9 (1), 2), HDID (3) d) GLDH&ETITL 6T5l6yLAl6V6m6U

158. Choose the Correct Statement/s among the following:

(1) Diphtheria is caused by Corynebacterium diphtheriae.

(2) Plague is caused by Yersinia pestis, a bacterial pathogen.

(3) Tetanus spreads via droplet infection.

(4) Typhoid is confirmed by a test called ‘Widal Test’.

a) (1), (2), and (3) b) (1), (2), and (4) ¢) (2), (3), and (4) d) (1), (3), and (4)
sflwmer gamenms G5 HOS5H & SHa]LD:

(1) QLS lwm Corynebacterium diphtheriae 94,60 gHLGH M S!.

(2) LNGerr&s Yersinia pestis er6ormn LIMSLeflWm GBS BLAWITEL §HLUG B MSI.

(3) QLLLeoTerv Glerfl Qg THMI ep6uLd LTS MSI.

(4) emLLUMUI® ‘smeUL6L CFMTHemenT eTeurILI(HILD CFMHemeTwme 2 MIFLILGSSLILGSH M.

159. Choose the right matches among the following (Disease and Symptoms):

(1) Pneumonia - Cough, fever, chest pain (2) Malaria — Muscle cramps, joint pain
(3) Polio — Paralysis, muscle weakness (4) Dengue — High fever, joint pain

a) (1), (3), and (4) are correct b) (2), (3), and (4) are correct

c) (1), (2), and (3) are correct d) (1), (2), and (4) are correct

L ereu(peusoreumnilev FiflwimeT QUIMTIHSHSH M S emeTs CHITHASH &S (CHITW LM MIb & &eir):

(1) BIGWmeolWIT - @ (HLO6V, HMUIEF6V, LOMFTL] 6uedl (2) LGl - HFemaLIL1g LiL], e 6uedl

(3) GUTSIGWIT - L& &ML, & LisvaTerid (4) OLRIG - 3|H & sTIFFO, LB eued

a) (1), 3), nHmILD (4) FrflwimeTemal b) (2), (3), LDMHMILD (4) FiflwimesTeme

o) (1), (2), LHMILD (3) FiflwlmesrenIol d) (1), (2), nHmuLd (4) Fiflwmereme

160. Match the following

Genetic Disorder and Description:

(a) Thalassemia - 1. Lack of insulin secretion

(b) Albinism - 2. Recessive gene leading to lack of melanin
(c) Diabetes mellitus 3. Mutated haemoglobin gene

(d) Sickle cell anaemia - 4. Crescent-shaped red blood cells

L9l 6T (B 6ueOTEUM MM QILIM(H S 518

LIUsDIS C&MeTmmI LM MmILD eflems &l

(a) TG wm - 1. @ 6r&-69160T &L G6mmMUT®
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(b) &y6v L Neuofl&FLD - 2. QevenfleT GemMUMLLYMG aufleU G & GLD (M!S DFL s
(c) FT&He T GHITU - 3. 2 (pLrMlw anfGLmE@ CermLSl6or oy LIsmI
(d) A &R QFeL yeofSlwr - 4. Yemm aulgeu FaullL QI5S 3|08 56T

(a) (b) (c) (d)
a) 3 1 4
b) 4 31
c) 2 1 4
d 1 3 4
161. With reference to water-soluble vitamins, which of the following statements is/are
correct?
1. They cannot be stored in the body and must be consumed daily.
2. Vitamin B12 is water-soluble but not available in plant-based foods unless fortified.
Select the correct answer using the code below:
a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 nor 2
BI-Ssenrwb eneul L LO6TS6T QS TLTUITS, LN6eiTeu(BLD Fahmiserfle ergl/eremeu &iiflwimeoremneu?
1. Sjemeu 2 L60l6v GFIAIGSLILIL (NG WITS, CLosuib Heorepld 2 Q& meTerLiLL Geuetor(hLD.
2. emeulL1AletT B12 BIJ-&H6my LD S6iTemLD Q& T60TL S 3LL60TIT6L QFMley, L LILIL meflLL M6V Smeury

Sl LiLenLulleumeor 2_6voTe & 6rfl6L & emL & STS.
BCY Qam@ssLIULB6rer GMuilenL Ll UweTU® S S Frlwmer LFlenev G5 HAS M & ea]LD:
a) 1 (LD b) 2 I0L_(h\LD o) 1 mmih 2 @ Fevor(hLd d) 1 lommith 2 @ evor(h LD &) 6V6M6V

162. Choose the Correct statement/s among the following:

(1) Mendel used pea plants to study patterns of heredity.

(2) The phenotype ratio of a monohybrid cross in F, generation is 3:1.

(3) Alleles are identical in heterozygous individuals.

(4) Dihybrid crosses yield a 9:3:3:1 phenotypic ratio.

a) (1), (2), and (3) are correct b) (2), (3), and (4) are correct
c) (1), (2), and (4) are correct d) (1), (3), and (4) are correct
LSl edTeu (B 6ueoTaU MMl 6L FIFLIMET BaMenms G T HG [ & &6y LD:

(1) QLO6TOTL6V LOFL6ULS] QUL EUMEISG M6 JUl6Y Q&I LIL L meuofl Q&FLq.8emerTL LW 6sT LR & ) 60T .
(2) F, semeu(penmuilév e epemm &euliL] eSS GLD 3:1 QY& LD.

(3) D16L6S6LEEIT LIGOT(LD &5 & 60TEMLD Q& ITEUOTL. & 60l B LTS 6rfl6L 6288 6m6L.

(4) @ BEUEMS H6VLIL|GET 9:3:3:1 eT6tTM QeuelLiLIemL WImeor 696 & 8608 2 (Ih6U T8 (55 60T M 60T.
a) (1), (2), nmmiLd (3) FflwimesTen oy b) (2), 3), LHMILD (4) FiflwWMeTEM6Y
o) (1), (2), nHmILh (4) FflwmeTemey d) (1), 3), oHmILd (4) FflwmesTemeu
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163. Identify Mendel’s Laws
1. Law of Dominance 2. Law of Probability 3. Law of Segregation
4. Law of Independent Assortment 5. Law of Mutation
a)l,2,and 4 b) 1, 3, and 4 c)2,3,and 5 d) 3,4, and 5
L9l 6dr6u (B 6ueoTEU MM 6L G110 600TL69160T 1B & 6m6ITs: & 6voT LMl L6y LD
1. eMIE LevorL] a6 2. Bl&hE &5 N 3. eoflga LNl S
4. miyLSleoTn) 6 HIMI(G 56V NG 5. 5QS\wmmm S
a) 1,2, LnMHMILD 4 b) 1, 3, InMHmILD 4 ) 2,3, InMHmILb 5 d) 3, 4, oMM 5

164. Match the following Chromosome Type and Description:

(a) Metacentric - 1. Rod-shaped with very short arm

(b) Submetacentric - 2. V-shaped with centromere in the center

(c) Acrocentric - 3. J or L-shaped with unequal arms

(d) Telocentric - 4. Rod-shaped with centromere at the tip

L etreu(peustreumenm QUIM(HS SIS GSCTTCLMTCFTID uems oM MILD 6Sl6m& &LD:

(a) QLLLTQ&FTLI& - 1. 088 GMIH W & &HEBL60T &0 allqeallh

(b) FLIQ WL LTA&F6TLIfl& - 2. OWOW S BT 6V Q&F6TL G LS W (HL60T V-6uLg6uLD

(c) 91&CyTaFeTL 5 - 3. FLOMM M &8 EBHL6T J 3|6V6V S L-allq6alLh

(d) QLGevmaFeTL 18 4. WpemeoTulleb Q1 &F6oTL CrmLSlW(HL60T &LDL aUlg6eULD
(a) (b) (c) (d)

a2 3 1 4

b) 4 31

c) 2 3 1

d1 2 4

165. Find out the Incorrect statement/s among the following:

(1) In alpha decay, the atomic number increases by one.

(2) Gamma decay does not change the atomic or mass number.

(3) In beta decay, atomic number increases but mass number remains unchanged.

(4) Alpha particles are helium nuclei with +2 charge.

a) (1) only b) (1) and (2) c) (2), and (3) d) None of the above

L) 65T6U (1H 61 60T6U M NIl 6V &56UMITEUT FanMHEMME & 600TL Nl QYLD:

(1) sy Femsedl6v, 2 g 6T6voT R6TM B &ESRMSI.

(2) ST FenG 6| STV S{6V6V S [Hl6MM ETETOTEMEUUT LOMM M TSI,

(3) WLLT Fens ey, g 6TettT 3B S 1&EH MBI 24,60TT6V [BleMM 6T600T LOMMITLOE @) (H& (S LD.

(4) LT SIHETHET +2 LS 60TE 600 WL 60T Forlq W NSl WILD 3| STD) &> & (15 &5 S 6iT.

a) (1) L @D b) (1) LnHmILD (2) ) (2), nMmILD (3) d) Gm&evoTL 67316 Ll6V6m6V
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166. Choose the correct statement/s among the following:

(1) Acids furnish H* or H;O" ions in aqueous solutions.

(2) All hydrogen-containing compounds are acids.

(3) Bases release OH™ ions in water.

(4) Alkalis are water-soluble bases.

a) (1), (3), and (4) are correct b) (1), (2), and (3) are correct
c) (2), (3), and (4) are correct d) (1), (2), and (4) are correct
LSl edTeu (B 6u eoTaU MMl 6L FIFWLIMET BaMenms G5 T HG 5[ & &6y LD:

(1) 9bflevrIG6T BTE&HMTFUG6T6L HY 9160651 H;0* 3]W 6l & emer 6uLpmi(G 8 60T M 6uT.

(2) QML [FR6T Q&TEU0TL. | 6M6TS S CFITLOMIGEHLD L6V EIG6lT.

(3) sryrser Brlév OH™ gjwenflsemer Geuerfludl @ &) 6ot meor.

4) erflasryrser Biflév SHenyuld &ITFmISe6T.

a) (1), (3), LnMWILD (4) FrflwimeoTemey b) (1), (2), D (3) FflwmeTTemne
0) (2), 3), WDMMmILD (4) FrflwimeTenel d) (1), (2), nMmILD (4) FrflumeTeme

167. Match the following — Acids and Their Natural Sources:
(a) Citric acid - 1. Tomato
(b) Oxalic acid - 2. Vinegar
(c) Acetic acid - 3. Lemon
(d) Tartaric acid - 4. Grape
L9 6dreu (HeueTTEUMEMM QLIMT(HS 185
SISl eUMEIGET DM MILD SjeuM N 6T @M S 3,8 TIJ IS 6IT:
(a) L& 9flevid - 1. & s merfl
(b) 81L,5&FM0 & 9fleuid - 2. ellevf &y
(c) 91919.5 fleuid - 3. arIS e &
(d) LrrLmifls 9uflevin 4. S\TTLenE
(@) (b) () (d)
a3 1 2 4
b) 4 3 1
c) 3 1 4
d1 2 4
168. Assertion [A]: Aqueous solutions of acids and bases conduct electricity.
Reason [R]: Acids and bases dissociate in water to form ions.
a) [A] is true but [R] is false
b) Both [A] and [R] are true; and [R] is the correct explanation of [A]
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c) [A] is false, [R] is true

d) Both [A] and [R] are true, but [R] is not the correct explanation of [A]

Fa M [Al: OeUBEIGET LDMHMILD ST RIS 6T 5786 HmMIFSH6T INGTETTSH MG &L 8 516 60T M 6or.
&Tyeuorld [R]: S| 8levmiIG6T LM MIDL &Trmk&eT Blev LNflems wenL g 2w evll&emerT 2_(IH6ums: & 8) 60T M 6uT.
a) [A] 2_600T6DILD L,60TIT6V [R] &6UMI

b) [A] LDOMILD [R] @ Tevor(HLD 2_6ooTemLD; LDMMILD [R] D60T&I [A] H&Teor FiflwimeT aflemg &L

o) [A] Beum), [R] 2_600TemLN

d) [A] LoMmILD [R] @ T60oT(HLD 2_600T60ID, L60TTEV [R] Sb,60T& [A] &&meor &iflWimeT aflemsaHLIn | 6V6y

169. Choose the right matches among the following:

(1) Baking soda - Sodium bicarbonate

(2) Washing soda - Sodium carbonate

(3) Bleaching powder -  Calcium sulphate

(4) Plaster of Paris — Calcium sulphate hemihydrate

a) (1), (2), and (4) are correct b) (2), (3), and (4) are correct
¢) (1), (3), and (4) are correct d) (1), (2), and (3) are correct
L9 edreu (B eusoreumnlev SEFlWmenT QLIT(HS S M & 6meTs CHTHO S M & & a]LD:

(1) FenDW6L CFMLT - GFMIQWILD MUSTTLG6TL

(2) Fevemeu GEFMLIT - GFMIQWILD STFLGCETL

(3) Uefg@m LaLy - SmeSlwld FeoCLIL

@) urflev FMHE - STOLFWD FCLL Qamblenaml Gl

a) (1), (2), LnHWILD (4) FrflwmesTemey b) (2), (3), LLMHMILD (4) FrflwmeTTeme
o) (1), (3), HaILD (4) FflwmeTeney d) (1), (2), oo oId (3) Fflwmesremey

170. Which space technology innovation is critical for advancing India’s lunar missions by
reducing mission costs?

a) Chandrayaan-4 Sample Return Mission b) Pushpak Orbital Demonstrator

c) XPoSat X-ray Polarimeter d) SpaDEX Docking Experiment

@ BB Wmelleir FHH T U6yl LIcuofl & emer (L 6sTGeTmM Mg ME&SLD, QFemeUs GemMLILIGMELD

wER wWwwnmer eflevorQeuerl Qg mLSlev HIL LI &evoT(R LI LIL] 6TSI?

a) FHGHTWMeT-4 MHIf S HLDLLD Weq 6o b) 4eq L& 9Tl 6v QL L0MeTerv L GrL LT

) T&HENVGUMEFTL 6T&6eVCT Sl(Heusper] oemai® samall d) 6VUIMQ L &6 @ emevorLiL] LIFIGEF TS emeot

171. Which of the following represents India’s first fully indigenous 32-bit space-grade
microprocessor developed by ISRO?

a) Vikram 3201 b) Chandrayaan-5 c) Gaganyaan Processor d) Kalpana 3201
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@ HH Wmelleir @e6vETTaUTeV (LN(EMOWITS 2 6THITL1960 2 (Hheums sl L 32-19 . efleorQeuerls &I
OWGECTTLINTTFEFT 6TSI?

a) eNl&yLh 3201 b) &HS) [T UITedT-5 C) SBHETWITET LIFTEFF d) &6VLI60TIT 3201

172. Which agricultural technology innovation, led by IIT Indore, is transforming Indian
agriculture through Al-driven precision farming and crop improvement?

a) CRISPR-Cas9 Crop Enhancement Program b) AgriHub Center of Excellence

c) National Quantum Farming Initiative d) Green Revolution 2.0 Project

221 Q\HETT SemevenoulleumerT 6fbhs elleusF Tl QE MBI LI St UL, QFWMHens Hievorevorniley
FTiHS slevedlwinmer afleusmwid WMmmib LulF CbUIM® epevld @S W efleuF g ens
CuLUBSSHHMmS?

a) CRISPR-&menv9 LW Golbuim_(h LD b) Gauermevoremn ML F\MLIL| emLDUILD

¢) GHHF W G 6UTevoTL_LD GEUETTeuTemLD (AWM d) Ugenn LTJL& 2.0 HLLLD

173. Recently, scientists from the Zoological Survey of India (ZSI) discovered a new
species of free-living marine nematode on the coast of which Indian state, highlighting its
coastal biodiversity?

a) Kerala b) Gujarat ¢) Tamil Nadu d) Andhra Pradesh
FISLS 6L, @B W efleum &l 6w Iy UleusEH 6T (ZSI) 69@h6h el & 6T 6TIhg @b S W 0T Blevs B 6T &L G6uITIy
usvsuflweney TS SIHHTLHIWD NGLOMES SBLM&MTUN6L &&HH JOME UMIHLD &L6V BIHL]LpeSeor
HE W @ ers6058 & 6vor(hLIl1G.5 5 60T (]?

a) @& e b) LTS 0 SWIHHBTH d) @& TU UTesHeLd

174. Which of the following is true regarding Tamil Nadu’s recent Statewide Innovation
Policies?

a) Tamil Nadu launched a Blockchain-only policy to regulate cryptocurrency usage in rural
areas.

b) The state announced a Deep Tech fund and signed MoUs with tech giants like Microsoft and
AWS to promote innovation.

c) The innovation policy is restricted to promoting startups in agriculture and fisheries only.
d) Tamil Nadu Innovation Hub focuses solely on student-level hackathons with no industry
participation.

SN BITLLq60T FISLISS W LOMHBlev jemaileumesr HeooT(HLIIGLIL] Q& TETENSHSH6T QG TLTLITS

LSl etTeu(peueoTuUM M 6L TSI &Fifl?

a) @rmoliymhisefley AfILIGLME&EI6TE LIWeTUTL 0L @WRIGUGOSSIaSMHETE SOpBThH Lermsa s ulleor
LR Q& TaTen S M N&ELILGSTLIS.
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b) LislemLnGemer 2615 &allILSME TS MBIV @ el QLS BlISlenw SmMlalss ennsErmamLL Inmmith AWS

GumeTm QS TLSeLHIL LI &M LIGUTETSHEHL 60T LI h&i6tor e eLILIESBIG6T 6 en&BQUIWRSTIL LS.

0) Lslemld Q& TeTend elleuaF M InmmIh LE6TaleTSH60 QST &8 BlMialeT G 2a185@GalllILgm @& LG G
SLOUUGSSLILLH6TeTsI.

d) sWLBTG LUsienn enwild QMg enm LUmIGCHML| @ 6V6VTLO6 LOMeorell 2l6Talleumeor
Gam& 555 Mars6t e DL HIGD HaIaTD QFMSSIH M.

175. With reference to Rhumi-1, the hybrid reusable rocket developed by Chennai startup
Space Zone India, which of the following statements is/are correct?
. Rhumi-1 uses a hybrid propulsion system combining solid fuel and liquid oxidizer.
. It was launched from a fixed-pad facility in Kalpakkam.
. Unlike conventional rockets, Rhumi-1 employs a mobile hydraulic launcher capable of
varying launch angles.
. Its primary payload focused on atmospheric data collection using Cube and Pico
satellites.
a) 1 and 2 only b) 1 and 3 only c) 1, 3 and 4 only d) All of the above
QF6OTEM 60T GTULITITL S| LILITE0T 6rVGLI6NV G&FITEOT @)H S WITEUIT6L 2_(Heum& & LILIL L &euLlLSleor o miLiwedsTrmL
TreQsLLmer epdl 1 8L QUITNSSaIenT, LN6Teu(hld Fammisefley eTg Frlwmersi?
1. epLAl 1 B erflQUTBET LM MILD Hyeu 33,8602 Cearmnleml @) 6m6ooTs: (GLh S&HevLiLSler 2 b gliellen &
SlemlenLl] LWeTUGS SIS MSI.
2. @8 HOLLIMESHSH 6L 2 6TeT (H Blemeuwmer-CLL auFSHuNed[BHSl geuliLlLgi.
3. QUPGSELOMET TMEREL([HHM6TL CLITEVEVEVITLO6, ehLll 1 656G 6T G IT6U0T KIS 6M6rT LOITH MILD §)m 6T
Q&ITEUOTL. &(H QLOMTEMLIE) emamLImedld UMEhFemTLI LIWeTUMH S SIS M.
4. 9|5 60T (LNS6ETENLD Feml0 TULL LOMMID MLIECEHIT QFWMeN S &G TETHm6TL LW 6rLH &S
suerfllnenoTL6v 76 CFSIALILN SHeueTd QFNISGHHH M.
a) 1 LmmILD 2 L (HILD b) 1 LbMHMID 3 WL HILD o) 1,3 LMHMID 4 WL (HILD d) GLDB6V 2_6ITET 6D 60TS SILD

176. Which of the following devices correctly matches with the physical principle involved
in its working?
1. Electric Iron — Heating effect of current 2. Transformer - Electromagnetic Induction
3. Periscope - Total Internal Reflection 4. Remote Control (TV) - Infrared radiation
a) 1 and 2 only b) 1, 2, and 4 only c) 2, 3, and 4 only d) All of the above
LS etTeu(BLD &F TS 60TMEISG 660 6THI S 60T QFWGLITLLY6V 2_6Tem @WMLAW 6L Q& meTemas WL 6ot FrlwmsLd
QUTBHSINMSI?
1. 10leTEMy @ HLOL] - L 6TCETITLL & B 60T QeuLiLl ellemerey
2. Seromm) - W 6TSHTHS SN6U0TL 6V
3. QuileuC&EITL - QLGS 26T LTS LSl
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4. F1IGLOML &evoTL.Grmev (19.6)) - 3|&FFR UL HHTaid o
a) 1 lnmmILd 2 L (HLD b) 1,2, InMHMILD 4 0L_(HILD

©) 2,3, InMmmIb 4 I0L_(HILD d) GGGV 2_6ITET 6M6ITSHSILN

177. Which of the following devices or phenomena involve correct application of basic
principles of mechanics?
. Hydraulic Lift - Pascal’s Law
. Pulley System — Mechanical Advantage and Force Multiplication
. Seatbelt in a Car — Inertia (Newton’s First Law)
. Airplane Taking Off - Bernoulli’s Principle
a) 1 and 2 only b) 2, 3, and 4 only c) 1, 2, and 3 only d) All of the above
LSetTeU(BLD FITSEUTMEIGET 3|6LeVGI BIGLD6&6rfleL T8 @)W & &6 W06 I LILIML G G&T6Ten 8 8 6m6rT
Fflunsl UweTU® S SIS M SI1?
1. cmamL_gmedl & 6l - umeusedleir el
2. 509 gemwoLiL - @QWHH T HeTemn LMMILD eNen&F QLI(HE &6V
3. smiflév €. QU6 - DB Blenev (Bl Levfler s e1S))
4. eflommeorid LyMLILIH &6V QU ereredl Ul 6T QG MeTem &
a) 1 lnmmid 2 L (HLD b) 2, 3, InMHMILD 4 0L_(HILD

o 1,2 wmmib 3 1L GID d) GGGV 2_6ITET 6M60TSHSILN

178. Which of the following devices work based on the principles of reflection, refraction,
or dispersion of light?
. Optical Fiber Cable — Total Internal Reflection
. Rainbow Formation — Dispersion and Refraction
. Rearview Mirror in Vehicles - Convex Mirror and Reflection
. Magnifying Glass - Converging Lens and Refraction
a) 1, 2, and 3 only b) 1, 3, and 4 only c) 2, 3, and 4 only d) All of the above
etreu(pLlb FrgeTrigserlen ergl sperflufleir LAT&H LedLIL, eeflafleudsev 9j6L6V G FIFHMEL Q& TeiTem & 8 6rfl 6oT
S liuenLuiiév QFWLIGHMSI?
1. UGV semUUT G LI6T - QLTSS 2 6T LNFG LeSILIL]
2. eumeoredléb 2_(HEUMSHSBLD - FAFHM6L LM MILD eerflafleuss ey
3. aungeoTmIG 66l LNeTLME &TLE &6voT6vor LY. - (&6 & 600T6voT LY. oM MILD LNFH LI
4. L1, 88 5 600T6UOTITLY. - Ql6V6tTerV oM MILD ep6rflafleu s 6mev 62 60T 61 6T0T S &5 6L
a) 1,2, lommib 3 I (GILD b) 1,3, DMHMILD 4 OL_(HILD

€) 2,3, Inmmib 4 I0L_(HILD d) GLOG6V 2_6ITET 26060TSHSHILN
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179. Which of the following correctly describes the Kariyachalli restoration project
launched by the Tamil Nadu Government?

a) It is a T30 crore initiative under the TNSHORE programme focused on restoring coral reefs
and preventing submergence of one of the Gulf of Mannar islands.

b) It is a 500 crore marine industrial project under the Sagarmala initiative, aimed at expanding
port infrastructure in southern Tamil Nadu.

c) It is a joint Indo-Sri Lankan agreement for cross-border marine security in the Gulf of Mannar.
d) It is a pilot project to develop wind farms on uninhabited islands for renewable energy
generation in coastal Tamil Nadu.

SODBITH TEFML QSTLMBEGUULL SFlwFaed InMEFanliL] G Lgeng LIsdreu(meusreumnlev 65l
Ffluns afleufl&HRmaI1?

a) LeueTLiLmenm&eneT LS QLGB LILSeILD LD6Ter T auemem& LT Seysserfley speormy Biflev enpGeauenss
SOLULBID Heuarld Qs sIn TNSHORE UL G 6T GLp 350 Camig. G Lilevmest (awWmHE @) &l.

b) Q&M SAPBTLI6 SIemMUNG 2 6Tl Lannlienu alliflau®G Ssiaens CHMTESL0MEHS Gl&Te0oTL & Mo TLINMeIT
wmF uller &ELp 3500 Ga Mg G LILleuTeT HLOFTT QSTHlSenm FILLIDTGLD.

C) LDGOTEOTITI GUEMETE&LTaN6L 6T6LEM6Y SM6UOTIq U S5L60 LIMSISTLILIMETeT @ hGF W -@)6uhiend danl (h LB
Qs

d) HLGeMY SLAPBHITL LBILLNGSH55658 flF&H 2 HUSHEHETSH 0&EH6T Tl &HETE Haserfley

STMHMTEIEVLI LIGTOTE0) 6007860161 2_(1H6U TG 6US M &6 62([H (LNETGETTIYS HL L DTG LD.

180. Why is copper preferred over aluminium for household wiring?

a) Aluminium is more expensive than copper

b) Copper has better electrical conductivity and resists oxidation

c) Copper is lighter and more flexible than aluminium

d) Aluminium does not conduct electricity

il auwrim QFWasm G dblealugians afll TAFL g6r HH & LWaTUGSSULUGRMSI?
a) SMTOISS ol 9svidlestiwild eflemev SIH &L

b) AT AWHS 6T &L 55 5H M6 Q& Tetor_gl LDMHMID SEFRCTHMES S THTEHHMSI

o smiFh 9adleflwgens alll @ 6v@Gealmerd LnMHmID QB LDeITeTS

d) gjadlesflwiid INeTEMTISHmME HLESMSI

181. How does increasing the curvature of a convex lens affect its focal length?

a) It increases the focal length b) It makes the lens flat

c) It decreases the focal length d) It removes the focal point

&eflhg QeveiTeneir cuemememel B SIFLILIGI 186 &6 Herdens eTeueumm LTH &SR MSI?

a) @8 Gl Bersamns H&flEHmal b) @& QeveaiTemen L L WITSH &SRS

0 @8 G HeTgmsesH GmmeH M d) @8 Gellw YeTaflenw H&HGH M
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182. What is the role of baking soda in antacids?
a) It increases stomach acidity
b) It reacts with acid to form soap
c) It neutralizes stomach acid through a chemical reaction
d) It slows down digestion
3l8lev BER Herflev Femnwiev GFITLTeN 60T LIMIE 6T60T6uT?
a) @& by siflssaramnamwl HH&HEH DS
b) @& siflevg gL ellemerflEE GFTLImML 2 (FeUTHGH MG
0 @8 @@ Cauiullwe erdrallemer eneuld auulmm flevsens BH BleMELLTH GRS
d) @8 QFflnrTarsans QISIaTs:GH M

183. How can a child show a recessive trait that is not visible in either parent?

a) Mutation occurs after birth

b) Recessive genes are always dominant in offspring

c) Both parents must be carriers of the recessive gene

d) Only the father passes traits to the child

R GLHG 6Ty QUMECMTfleL @ BeurflL(pLd &TeTLILLITS 6 (H\MIG LI6uoTenLIg &L L (NLgu]Lh?
a) Upliyseu Wn@ Umhey gdu@euger eneuld

b) @(HIBIG DT LEDISHSH6T 6TLICLIMSID &FHEHEH &6 60 I H&HELD 6\F syl & S5 60T M 6T

Q) QUMECMTT @HaULD @M EIG TLIsIN6T &L SSILITTS @ (HE8 Galeor(hLd

d) BB L BHICLD GLOHENSHEHEG LIGOTLI&H66T &L SHHMTT

184. Which initiative, launched by India, encourages sustainable individual and collective
actions to mitigate climate change, as a key global environmental strategy?

a) National Clean Air Programme b) Mission LiFE

¢) Swachh Bharat Abhiyan d) National Solar Mission

@ HH WITeUMeL QGTLMBISLILLL 6THS (NWMT), HMeuBlemev LDMMME eSS & 600TLILISME 6T [H60)6V LITEOT
SeflpLT LMHMILD Fal (h) HL6ULLE MG MET @(h (N&HFH W 2 6vsenmelll &M MIFEELo60 2 5H WS

2018 G SH MEI?

a) GaFW FrilemnulmeT STHMIS G LD b) 16q68T 66V sL]

¢) ehalg LIMTS < L9uwimedt d) xR Gflu F&H S FL_L LD

185. Which mission advanced our understanding of the universe’s structure by studying X-
ray emissions from celestial bodies?
a) Chandrayaan-4 b) XPoSat c) Aditya-L1 d) SpaDEX
THSH S HLL LD eumeoilwev C&meTsHelev 6Td6e-&G [T 2 18lpemeull LI LIS 60T eLneulb LIy LIEh & & &) 6ot
Slemwlienull umlw BLg Yiflseamev CLbUBGSS W E?
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a) FHETUTeor-4 b) XPoSat ¢ HSWIm-L1 d) SpaDEX

186. Which medical innovation, utilizing nuclear physics principles, improves precision in
cancer treatment?

a) Proton Therapy System b) Chemotherapy Drug

c) Laser Surgery Device d) Robotic Surgery Arm

Slgwl UMWV Q& TETem & &emeTL LWaTUR S S, LM mICHT F&H&Famauiley glesvedlwdens
CUUBSSILD LOIHS Si6U SevorMLILg LIL] eTg?

a) G ML LMer 1R Femns jeminliL] b) BCLTASTL ID@®HS!

0) GeuaFl I miemal PR FF FMSHETLD d) & GrmGUMys Imiemnel NG Fang

187. Which innovation, utilizing element properties, enhances battery performance?
a) Graphene-Based Battery b) Lithium-Sulfur Battery

¢) Sodium-Ion Battery d) Silicon Anode Battery

6T1h & &HevoT(H LI LIL] Sevflo LT &emeT LWeTU® &S, CULLIfl QEFweaH mener CODLIG S SILD?
a) @ymLfeor 9jiq LiLienLullevmest GLILLIf] b) eSGF WiLh-FeoLiT GUL L]

¢) GFMQUWILD-Swiedr GUL_Lif] d) P0G s mer oGeorml G L]

188. Which physical law explains the propulsion mechanism of India’s PSLV launch
vehicles like Rhumi-1?

a) Newton’s First Law b) Newton’s Second Law

c) Newton’s Third Law d) Law of Conservation of Mass

@\HH wWmelleir PSLV 668 eveirgamment epLll-1 @601 2_h Fiellems QUM (WNemmenl 6THS @ W mLwev eSS
A AT

a) Blw,L_Leofledr (6L ellF) b) BluLL_Levfledr @) FevorL_meugl &)

) Bl L Levfledr epedrmmeug el d) Blemm LML ellG)

189. Which nutritional deficiency is targeted under the Mid-Day Meal Scheme in Tamil
Nadu schools?

a) Vitamin A b) Iron ¢) Vitamin C d) Protein
SOLBTLG LU UsTe&erflél LDHW 2 6toTe s B LSBT GLp eTHS 20 LFFSH S| GMMLITL 60L& &6ememl
B VGG Meus S LILIL (b 6eiTengI?

a) emell_ L LdledT A b) @GBLUFFSS c) emauLl_LLdlesT C d) UrsLh

190. Why is a stethoscope used by doctors shaped like a tube?
a) To detect blood pressure b) To amplify heart and lung sounds through vibrations

c) To reduce outside noise d) To filter air
Page 41 of 44

Contact : 95005 85211/70100 99341
Telegram Link https://t.me/ChinmayaTnpsc



https://t.me/ChinmayaTnpsc

CHINMAYA ACADEMY FOR CIVIL SERVICES
OB S SI6UTHET LIWeTLH S SID 6FVGQLSTEVCEITLI 66T (SLp Ml 6uLg6dl6v 2 6iTems?
a) QUSS SHWSHSHMBS &evorL Ml
b) 2B Te ST eLneuld @& WD MM HiemTuTTev eed&emeTLl QL[H&HS
¢) QalerlliLim @emTEFFenaLs GmMe:s

d) &THenm el &L L

191. Assertion (A): Smoke detectors used in homes and buildings contain a radioactive
isotope like Americium-241.

Reason (R): Alpha particles emitted by Americium-241 pass through walls to detect smoke
from rooms.

a) Both A and R are true, and R is the correct explanation of A

b) Both A and R are true, but R is not the correct explanation of A

c) Assertion is true, but Reason is false

d) Assertion is false, but Reason is true

Fammi (A): SR &6T LMHMID SLIGLBISG6T6L LWeaTURSSLILGLD Lens 2 cuorflgerfley 9@l wih-241
cumerm &HFls s BCFTCLITLIL] 2_6Temgl.

&mTyewrd (R): QL lFwib-241 Qeueflul BHID SLEVLIT SISH6TSHET FeUTSH6T eUSIWITSF Q& 6oTmI
M & erfled (H1H &I 6UIHLD L|60r18emW & 8 600TL Ml LLD.

a) A LnMHMILD R @ Jetor(hLh 2 6toTemnin, GLosIln R eTadTLIG A @ 60T Fiflulmest eNlemgs&Lh

b) A LDMHMILD R @ Tetor(HILD 2_6T0TEMLD, B4,60TIT6V R 6T6OTLISS A @) 60T &Il WimeoT al6mE &N 606V

C) MM 2_600T60IL0, 2,60TT6V &ITT600TLD & 6UmI

d) Sa MM &H6UMI, L60TT6V &ITJ600TLD 2_600T60)L0

192. Match the following
Vitamin and Deficiency Symptom:
(a) Vitamin A - 1. Rickets
(b) Vitamin D - 2. Night blindness
(c) Vitamin B1 - 3. Beriberi
(d) Vitamin C - 4. Scurvy
LSletTeu(peuetTOUM MM QLIM(BHS 518
enauL L LSl6r LoMMILD GemmUmh 3 E&n:
(a) emeuL_LLSletT A - 1. fls@Q s L6
(b) emeuL_L1Sl6dT D - 2. Q76 GBLBHSS6TemLI0
(c) emeuL_L1SletT B1 - 3. ulQul
(d) emeuL_L LS edT C 4. susyail

(a) (b) () (d)
@1l 2 3 4
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)2 1 3 4
4 2 1 3
d3 4 2 1

193. Choose the right matches among the following:

(1) DNA - Double helix with base pairing

(2) Watson and Crick - Model of DNA structure

(3) RNA Primer - Initiates DNA replication

(4) DNA Ligase - Forms Okazaki fragments

(@) (1), (2), and (3) are correct (b) (2), (3), and (4) are correct
(c) (1), (3), and (4) are correct (d) (1), (2), and (4) are correct
L9 edreu (B eusoreuM 6L EFlWImenT Q\LIT(H S S M & 60 6Ts GO M & & a]LD:

(1) q.6T60TEN - 56T @) 601600T6Y Q& TeUOTL. @) TL60L SrLp6L

(2) eurL&etr LOMH MILD R ifl& - L9.6T60TE] jemInLiL] LMl

(3) sy Fereirer LNemyLOF - 1q.6T60Te] FEHQV (R QS TLEIGH M S

(4) 1q.6T60T6] 691G &6 - REMTFTE 51600T(H &M6T 2_(IH6UMTE G TR M SI

@) (1), (2), nmmid (3) Fiflwimesrene (b) (2), (3), LHMILD (4) FAlwmeTemel
(©) (1), (3), LDMMILD (4) FrflwmeTem6 (d) (1), (2), LDOHILD (4) FrflwmesTem 6y

194. Consider the following statements:

1. Down's syndrome results from Trisomy 21.

2. It is classified under gene mutation.

Which of the statements given above is/are correct?

a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 nor 2
L 6dTeU(BLD SoM MIG 66T 856 60T L 11 & 6iT:

1. Leyedr A euorL G b LemyG&Fmidl 21 916V gHLGS M S.

2. @5 LU WLIMMS S 6T Gl umELILGSSUILGHRMSI.

CLGev AHMH & & LILILHETET gammiSerfleu ergl/eTemeu &iflWimeoremeu?

a) 1 L (b b) 2 DL_(HD 0) 1 MmmID 2 @ Fevor(hLd d) 1 lnmmith 2 @uevor(hild @)6Len6V

195. Which phenomenon is responsible for making the path of light visible in a dusty
room?

a) Rayleigh scattering b) Mie scattering c) Tyndall scattering d) Refraction
S Blenmbe emmuilev eerflullesT LITem G em &ITeuT 6T1HS H1&LD6Y S ITTEUTLO NS 3| 600G eTm S1?

a) TMGev efFHmev b) LS eef P HM6L C) 19.600TL_T6L 66 BB M6L d) eerflaflevssev

Page 43 of 44

Contact : 95005 85211/70100 99341
Telegram Link https://t.me/ChinmayaTnpsc



https://t.me/ChinmayaTnpsc

CHINMAYA ACADEMY FOR CIVIL SERVICES

196. The speed of sound in air at 20°C is approximately?

a) 340 m/s b) 1500 m/s c) 1000 m/s d) 760 m/s
20°C @6V &Ml spedludledr Gaussld G&MTTTWIDTS G)(H&GLh?

a) 340 L8/e b) 1500 L&/ex ¢) 1000 LS/exl d) 760 Li/efl

197. In which of the following mediums does sound travel slowest?
a) Water b) Air c) Steel

LetTeu(BLD 6THS 26T &S5 G 6V 269 QLD GIaUTs LI Liweool&H mi?

a) By b) &THmI C) 6T

198. What is the charge of an electron?
6T6L & LITTeuT 60T LOI60T 518 6iT eT60T60T?
a) 1.6 x 10-19C b) 1.6 x 10-18 C c) 1.6 x 1020 C d) 1.6 x 10-17C

199. An object is placed 30 cm from a concave mirror of focal length 15 cm. Find the
image distance.

a) - 30 cm b) + 30 cm c)- 15 cm d) + 15 cm
G6eflw Berd 15 QF.LS Q& TEuoTL. 6 (H &L 6UITeoT & 6voTeuor MU0 (HH S @ (H QLITIH6IT 30 Q&.LS G S memeveilev
UGS ILOSH M. KDL SIS ens 8 & 6vorLnlweyLb.

a) -30 Q&.LS b) +30 Q&.L5 o) -15 Q&1 d) +15 Q&.L§

200. Water is used in hot water bags and car radiators because:

a) It heats up quickly b) It is a good conductor of electricity

c) It has high specific heat capacity d) It has low boiling point

GLmeor BT emLIG6T LMMILD ST CrgCWL L& 6rflev & evoTeoof [ LI 6ot LI ([H &L LI () 6 M & TET &ITIJ600TLD:
a) @& ellemreauns QalliLmnea LB ms

b) @8I @ Bevey WS &L GG

0 @8 3155 GOIILULLL Qeulilg Hmeners Q& meoor(h eTeng!

d) @& GeMbHS QETH BV UIS Q8 Teror(h6Teng!
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